SI.No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category	Type of Site (CC/DC/CF S)		Dimensions of the site (II	•	Arrange	e to be ed by the licant	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
			Regular/R ural	(MS+HSD) in Kls	SC/SC CC 1/SC PH/OBC/O BC CC 1/OBC PH/OPEN/C OPEN CC 1/OPEN CC 2/OPEN PH	(CC/DC/CF S)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO	Estimated fund required for developm ent of infrastruct ure at RO	Draw of Lots/Bidding	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
	WITHIN BANSWADA MUNICIPAL LIMITS	KAMAREDDY	REGULAR	120	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
7	WITHIN 1 KM OF MALLARAM CROSS ROADS (ON NIZAMABAD - VARNI ROAD)	NIZAMABAD	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
- 3	WITHIN 2 KMS FROM KANTESWAR TEMPLE, NIZAMABAD TO NIZAMABAD BUS STAND	NIZAMABAD	REGULAR	130	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
	WITHIN KAMAREDDY TOWN MUNICIPAL LIMITS	KAMAREDDY	REGULAR	130	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
	WITHIN BODHAN TOWN MUNICIPAL LIMITS	NIZAMABAD	REGULAR	130	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
	WITHIN VARNI VILLAGE LIMITS (ON NIZAMBAD - BANSWADA ROAD )	NIZAMABAD	REGULAR	110	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
/	BETWEEN DOODGAON CROSS ROADS AND MUPKAL CROSS ROADS , TOWARDS DICHPALLY ON LHS, ON NH-44(OLD NH-7)	NIZAMABAD	REGULAR	170	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
8	WITHIN NIZAMABAD TOWN MUNICIPAL LIMITS	NIZAMABAD	REGULAR	140	OPEN	CC	25	25	625	25	10	BIDDING	30	5
9	BETWEEN MUPKAL CROSS ROADS AND ARGUL TOWARDS HYDERABAD ON NH-44 (OLD NH-7),ON LHS	NIZAMABAD	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
10	WITHIN 5 KMS FROM BANSWADA POLICE STATION TOWARDS YELLAREDDY,ON SH-6	KAMAREDDY	REGULAR	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
11	ON NIZAMABAD BYPASS ROAD, WHILE GOING FROM DICHPALLY TO BODHAN	NIZAMABAD	REGULAR	110	OPEN	CC	30	30	900	25	10	BIDDING	30	5
12	WITHIN PALWANCHA VILLAGE LIMITS ON SH 11	KAMAREDDY	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	WITHIN KOSLI VILLAGE LIMITS, NAVIPET MANDAL (ON NAVIPET-BASAR ROAD)	NIZAMABAD	REGULAR	110	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
14	WITHIN 2 KM RADIUS OF KAMAREDDY RAILWAY STATION MAIN ENTRANCE	KAMAREDDY	REGULAR	130	OPEN CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
15	BETWEEN RAMAKANTH FUNCTION HALL, BODHAN AND RAKASIPET RING ROAD, BODHAN	NIZAMABAD	REGULAR	120	OPEN	CC	25	25	625	25	10	BIDDING	30	5
16	WITHIN 2 KM RADIUS OF AMBEDKAR STATUE CIRCLE, BODHAN	NIZAMABAD	REGULAR	120	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
1 1 /	WITHIN THADKOLE VILLAGE LIMITS (ON BHANSWADA - MADDELCHERVU ROAD)	KAMAREDDY	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
18	WITHIN 2 KMS RADIUS OF AMBEDKAR STATUE CIRCLE, ARMOOR.	NIZAMABAD	REGULAR	120	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
19	WITHIN 2 KM FROM PHULLONG CIRCLE, NIZAMABAD TOWARDS DICHPALLY,ON LHS	NIZAMABAD	REGULAR	140	OPEN	DC	20	25	500	25	45	DRAW OF LOTS	15	5

20	BETWEEN CHINNA KODAPGAL CROSS ROADS AND BICHKUNDA CROSS ROADS ON NH161	KAMAREDDY	REGULAR	180	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
21	WITHIN 5 KMS OF KAMAREDDY HEAD POST OFFICE ON SH-11 TOWARDS SIRCILLA	KAMAREDDY	REGULAR	120	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
22	BETWEEN LIONS BHAVAN EYE HOSPITAL, ARMOOR AND SBI, ANKAPUR ON NH-63	NIZAMABAD	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
23	WITHIN GALIPUR VILLAGE LIMITS ON SH6	KAMAREDDY	REGULAR	100	OPEN CC 2	DC	30	30	900	25	60	DRAW OF LOTS	15	5
24	WITHIN 5KMS FROM KSHATRIYA COLLEGE OF ENGINEERING TOWARDS JAGITYAL ON NH-63	NIZAMABAD	REGULAR	175	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
25	BETWEEN JANKAMPET VILLAGE AND NAVIPET VILLAGE - (ON BASAR ROAD)	NIZAMABAD	REGULAR	100	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
26	PERKIT VILLAGE - ON NIRMAL ROAD, ARMOOR MANDAL (OLD NH)	NIZAMABAD	REGULAR	120	OPEN	CC	30	30	900	25	10	BIDDING	30	5
27	ON NH-63 WITHIN 3 KMS OF MUNIPALLY CROSS ROADS (ON EITHER SIDE)	NIZAMABAD	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
28	WITHIN LINGAPUR VILLAGE LIMITS ON SH-11	KAMAREDDY	REGULAR	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
29	BETWEEN KANTESWAR TEMPLE AND SRI RAMA GARDENS, NIZAMABAD ON ARMOOR ROAD	NIZAMABAD	REGULAR	140	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
30	WITHIN 4 KMS FROM NATRAJ ASIAN THEATRE, NIZAMABAD TOWARDS SARANGAPUR	NIZAMABAD	REGULAR	130	OPEN	CC	25	25	625	25	10	BIDDING	30	5
31	WITHIN ARMOOR MUNICIPAL LIMITS	NIZAMABAD	REGULAR	130	OPEN	CC	25	25	625	25	10	BIDDING	30	5
32	WITHIN 2 KM OF MUTHYAMPET CROSS ROADS ON SH-11 (KAMAREDDY-SIRCILLA ROAD)	KAMAREDDY	REGULAR	110	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
33	WITHIN NAVIPET VILLAGE LIMITS ON JANAKAMPET TO BASARA ROAD	NIZAMABAD	REGULAR	120	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
34	WITHIN TIRMALAPUR VILLAGE LIMITS ON SH6	KAMAREDDY	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
35	BETWEEN KM STONE 38 & KM STONE 40 ON NH-63 , ON LHS(TOWARDS MORTHAD)	NIZAMABAD	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
36	WITHIN 3 KMS RADIUS OF KAMAREDDY HEAD POST OFFICE, NOT ON SH	KAMAREDDY	REGULAR	150	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
37	BETWEEN MAINUR VILLAGE AND BICHKUNDA CROSS ROAD ON NH-161	KAMAREDDY	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
38	BETWEEN JANKAMPET VILLAGE AND MSC FORM ON SH-25	NIZAMABAD	REGULAR	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
39	WITHIN 2 KMS FROM PEGADAPALLY CROSS ROADS ON SH-25, TOWARDS NIZAMABAD	NIZAMABAD	REGULAR	120	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
40	WITHIN 3 KMS OF MAKLOOR CROSS ROADS ON NH-63	NIZAMABAD	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
41	BETWEEN PEDDAMALLAREDDY CROSS ROADS AND JANGAMPALLY CROSS ROADS ON NH44(OLD NH-7),	KAMAREDDY	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
42	ON BODHAN BYPASS TOWARDS SALOORA	NIZAMABAD	REGULAR	120	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
43	BETWEEN TEKRIYAL CROSS ROADS AND PONDURTHI CROSS ROADS, ON NH-44 (NEW HIGHWAY)	KAMAREDDY	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
44	FROM MAMIDIPALLY VILLAGE TO MAILARDEVPALLY (INNER RING CROSS ROAD) ON RHS	RANGA REDDY	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
45	WITHIN 1 KM FROM ARAMGARH CROSS ROAD TOWARDS SARDAR VALLABHBHAI PATEL NATIONAL POLICE ACADEMY, ON LHS	RANGA REDDY	REGULAR	151	OPEN	CC	30	30	900	25	10	BIDDING	30	5
46	TOROOR VILLAGE, ABDULLAPURMET MANDAL	RANGA REDDY	REGULAR	150	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
47	JILLELAGUDA ROAD, BETWEEN RCI CROSS ROAD AND MEERPET CROSS ROAD	RANGA REDDY	REGULAR	150	SC	CFS	25	30	750	0	0	DRAW OF LOTS	0	3
48	WITHIN 4 KM FROM BONGLOOR ORR CROSS ROAD TOWARDS HYDERABAD, ON SH19 (RHS)	RANGA REDDY	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
49	FROM HAZRATH SHAH MEERAN HUSSAINI SARKAR DARGAH SHAREEF TO NANAL NAGAR CIRCLE (RHS)	HYDERABAD	REGULAR	237	OPEN	CC	20	20	400	25	10	BIDDING	30	5

50	FROM DON BOSCO NAGAR POST OFFICE TO MASJID - E - BILAL R.A. GANDIPET MANDAL	RANGA REDDY	REGULAR	167	OBC PH	DC	25	30	750	25	60	DRAW OF LOTS	15	4
51	NEW SHAMSHEER GUNJ ROAD	HYDERABAD	REGULAR	150	ST PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
52	FROM CHEVELLA-SHANKARAPALLY CROSS ROAD TO NARSINGI ORR CROSSING, VIA TARAMATI, ON LHS	RANGA REDDY	REGULAR	171	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
53	BALAPUR VILLAGE, BALAPUR MANDAL	RANGA REDDY	REGULAR	167	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
54	ON RHS FROM NTR STATUE (LANGERHOUZ) TO IBRAHIMBAGH	HYDERABAD	REGULAR	261	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
55	FROM TALAB KATTA TO SANTOSH NAGAR CROSS ROAD	HYDERABAD	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
56	ON KISHANBHAG ROAD, FROM PVNR EXPRESSWAY PILLAR NO. 144 TO BAHDURPURA CROSS ROAD, ON LHS	HYDERABAD	REGULAR	150	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
57	ON DABEERPURA ROAD, BETWEEN ZEHRA NAGAR COLONY AND CHANCHALGUDA	HYDERABAD	REGULAR	157	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
58	FROM APPA JUNCTION CROSS ROADS TO ORR EXIT19, ON LHS	RANGA REDDY	REGULAR	162	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
59	FROM BONGLOOR CROSS ROAD TO NH65 ORR CROSSING, ON LHS	RANGA REDDY	REGULAR	157	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
60	ON LAL DARWAJA ROAD, LAL DARWAJA	HYDERABAD	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
61	FROM KOKAPET TO NANAKRAMGUDA ORR CROSSING, ON LHS	RANGA REDDY	REGULAR	151	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
62	ON LHS FROM NTR STATUE TO CHEVELLA-SHANKARPALLY CROSS ROADS, LANGERHOUZ	HYDERABAD	REGULAR	261	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
63	KANCHANBHAG, BANDLAGUDA MANDAL	HYDERABAD	REGULAR	140	OPEN CC 1	DC	20	20	400	25	60	DRAW OF LOTS	15	5
64	FROM PVNR EXPRESSWAY PILLAR NO. 144 TO BAHDURPURA CROSS ROAD, ON RHS	HYDERABAD	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
65	FROM PVNR EXPRESS WAY PILLAR NO. 216 TO RAJENDRANAGAR ORR CROSS ROAD, ON RHS	RANGA REDDY	REGULAR	154	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
66	MOTI DARWAJA ROAD, M D LINES	HYDERABAD	REGULAR	163	OPEN	CC	20	20	400	25	10	BIDDING	30	5
67	FROM TUKKUGUDA CROSS ROAD TO BONGLOOR CROSS ROAD, ON LHS	RANGA REDDY	REGULAR	154	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
68	FROM PALAMAKULA VILLAGE TO KOTHUR , ON NH44 (LHS)	RANGA REDDY	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
69	KURMALGUDA VILLAGE, BALAPUR MANDAL	RANGA REDDY	REGULAR	158	ST	CFS	25	30	750	0	0	DRAW OF LOTS	0	3
70	FROM APPA JUNCTION CROSS ROAD TO NARSINGI CROSS ROAD, ON RHS	RANGA REDDY	REGULAR	162	OPEN	CC	30	30	900	25	10	BIDDING	30	5
71	FROM RCI ROAD CROSS TO DMRL CROSS ROAD, ON LHS	RANGA REDDY	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
72	FROM PVNR EXPRESSWAY PILLAR NO 143 TO NALANDA NAGAR (UPPARPALLI)	RANGA REDDY	REGULAR	150	OPEN	CC	25	30	750	25	10	BIDDING	30	5
73	FROM PALAMAKULA VILLAGE TO KOTHUR , ON NH44 (RHS)	RANGA REDDY	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
74	ON NH44 (LHS) WITHIN 2 KM FROM RAIKAL TOLL PLAZA TOWARDS MEHBUBNAGAR	RANGA REDDY	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
75	SULTHAN SHAHI ROAD, MOGHALPURA	HYDERABAD	REGULAR	150	OPEN PH	DC	20	20	400	25	60	DRAW OF LOTS	15	5
76	WITHIN 2.5 KM FROM PALAMAKULA-PEDDA GOLCONDA ROAD INTERSECTION , LHS TOWARDS HYDERABAD, ON NH-44	RANGA REDDY	REGULAR	196	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
77	WITHIN 2 KM FROM FATEHDARWAZA (MOINPURA)	HYDERABAD	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
78	FROM PASHAMBANDA TO SHAMSHABAD ORR CROSSING, ON NH 44 LHS	RANGA REDDY	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
79	NAWAB SAHEB KUNTA TO VATTEPALLY	HYDERABAD	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
80	FROM DMRL CROSSING TO CHANDRAYANGUTTA CROSSING, ON LHS	HYDERABAD	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
81	FROM PVNR EXPRESSWAY PILLAR NO. 102 TO PURANA POOL CROSS ROAD	HYDERABAD	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5

82	MALAKPET TO SAIDABAD	HYDERABAD	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
83	CHAMPAPET TO BIRAMALGUDA	RANGA REDDY	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
84	FROM BN REDDY NAGAR TO SAGAR RING CROSS ROADS, ON LHS	RANGA REDDY	REGULAR	150	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
85	HIGH COURT ROAD, GHANSI BAZAAR, VIA QQS STADIUM	HYDERABAD	REGULAR	153	OPEN	CC	20	20	400	25	10	BIDDING	30	5
86	FROM GADDIANNARAM CROSS ROADS TO NALGONDA CROSS ROADS, ON LHS	HYDERABAD	REGULAR	177	OPEN CC 1	DC	20	20	400	25	60	DRAW OF LOTS	15	5
87	FROM BONGLOOR CROSS ROAD TO ORR-NH65 CROSS ROAD, ON RHS	RANGA REDDY	REGULAR	157	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
88	FROM LINGAMPALLI VILLAGE,MUNIPALLY MANDAL TO DIGWAL VILLAGE,KOHIR MANDAL ON NH65, ON LHS	SANGAREDDY	REGULAR	200	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
89	FROM RAMACHANDRAPURAM TO PATANCHERU ON NH-65, ON RHS	SANGAREDDY	REGULAR	225	OPEN	CC	30	45	1350	25	10	BIDDING	30	5
90	TELLAPUR (ON TELLAPUR - NALLAGANDLA ROAD)	SANGAREDDY	REGULAR	188	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
91	WITHIN 2 KMS FROM ZAHEERABAD TOWN ON ZAHEERABAD TOWN TO MALCHALMA VILLAGE ROAD	SANGAREDDY	REGULAR	188	OBC	DC	40	40	1600	25	45	DRAW OF LOTS	15	4
92	WITHIN 2 KM FROM ACHAMPET SUB POST OFFICE TOWARDS LINGALA,ACHAMPET	NAGARKURNOOL	REGULAR	105	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
93	FROM KANDI VILLAGE TO POTHIREDDYPALLI CROSS ROADS ON NH65, ON RHS	SANGAREDDY	REGULAR	225	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
94	KODANGAL VILLAGE (ON KODANGAL - TANDUR ROAD), SH23	VIKARABAD	REGULAR	187	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
95	FROM TELLAPUR CROSS ROAD TO MUTHANGI CROSS ROAD, ON LHS	SANGAREDDY	REGULAR	185	OBC	DC	40	40	1600	25	45	DRAW OF LOTS	15	4
96	WATPALLE VILLAGE, WATPALLE MANDAL (ON BODMATPALLY BIDAR ROAD), SH15	SANGAREDDY	REGULAR	191	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
97	BETWEEN BEERUMGUDA AND KISTAREDDYPET VILLAGE,AMEENPUR MANDAL	SANGAREDDY	REGULAR	221	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
98	FROM MOINABAD VILLAGE TO APPAREDDYGUDA VILLAGE ON SH4, ON LHS	RANGA REDDY	REGULAR	236	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
99	FROM POTHIREDDYPALLI CROSS ROADS TO PEDDAPUR VILLAGE ON NH65, ON RHS	SANGAREDDY	REGULAR	160	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
100	WITHIN 3 KM FROM JADCHERLA-MAHABUBNAGAR CROSS ROAD TOWARDS HYDERABAD, ON LHS (NH-44)	MAHBUBNAGAR	REGULAR	180	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
101	FROM CHANDANAGAR TO AMEENPUR, ON LHS	RANGA REDDY	REGULAR	210	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
102	WITHIN ZAHEERABAD TOWN LIMITS, ON OLD NH65	SANGAREDDY	REGULAR	150	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
103	FROM ISNAPUR VILLAGE TO RUDRARAM VILLAGE,PATANCHERU MANDAL ON NH65, ON LHS	SANGAREDDY	REGULAR	216	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
104	BETWEEN TANDUR TOWN AND KANDENELLY VILLAGE (ON TANDUR - VIKARABAD ROAD)	VIKARABAD	REGULAR	164	OPEN	DC	40	40	1600	25	45	DRAW OF LOTS	15	5
105	FROM MRUGAVANI NATIONAL PARK TO MOINABAD (SH4), ON LHS	RANGA REDDY	REGULAR	180	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
106	FROM POTHIREDDYPALLI CROSS ROADS TO PEDDAPUR VILLAGE ON NH65, ON LHS	SANGAREDDY	REGULAR	195	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
107	FROM MIRJAGUDA TO KANDLAPALLI VILLAGE ON SH4, ON RHS	SANGAREDDY	REGULAR	130	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
108	BETWEEN TANDUR TOWN AND LAXMINARAYANPUR VILLAGE ON SH23	VIKARABAD	REGULAR	185	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
109	WITHIN 1.5 KM FROM PALAMAKULA-PEDDA GOLCONDA CROSS ROAD TOWARDS HYDERABAD, ON NH44 (RHS)	RANGA REDDY	REGULAR	208	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
110	PARIGI TOWN MUNICIPAL LIMITS	VIKARABAD	REGULAR	190	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
111	ANNARAM VILLAGE (ON GUNDLAPOCHAMPALLY - NARSAPUR ROAD(SH6), ON RHS	SANGAREDDY	REGULAR	205	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5

112	GANDIGUDEM VILLAGE,AMEENPUR MANDAL (ON GANDIGUDEM - BOLLARAM ROAD)	SANGAREDDY	REGULAR	173	OPEN CC 1	DC	30	30	900	25	45	DRAW OF LOTS	15	5
113	MUNGI VILLAGE, NYALKAL MANDÁL (ON NARAYANKHED - GANGWAR ROAD), SH15	SANGAREDDY	REGULAR	184	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
114	CHARAKONDA VILLAGE LIMITS ON SH 18	NAGARKURNOOL	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
115	ON LHS OF NEW SADASHIVPET BYPASS ON HYDERABAD TO MUMBAI ROAD(NH65)	SANGAREDDY	REGULAR	190	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1 116	SIVAMPET VILLAGE,PULKAL MANDAL (ON SANGAREDDY - NANDED ROAD(NH161))	SANGAREDDY	REGULAR	205	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
117	BOLLARAM, JINNARAM MANDAL	SANGAREDDY	REGULAR	181	OBC	DC	30	40	1200	25	45	DRAW OF LOTS	15	4
I IIX	FROM ISNAPUR VILLAGE TO LAKDARAM VILLAGE,PATANCHERU MANDAL ON NH65, ON RHS	SANGAREDDY	REGULAR	156	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1 119	ON LHS OF NEW ZAHEERABAD BYPASS (ON HYDERABAD - MUMBAI ROAD(NH65))	SANGAREDDY	REGULAR	180	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1 20	on LHS of Aroor Village,Sadashivpet Mandal (on Hyderabad - Mumbai Road(nH65))	SANGAREDDY	REGULAR	194	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1 121	FROM KONDAPAK VILLAGE (KONDAPAK MANDAL) TO PONNAL VILLAGE (SIDDIPET MANDAL), ON SH01 (LHS)	SIDDIPET	REGULAR	120	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
1//	WITHIN 3 KM FROM MULUG VILLAGE, ON SH01, (TOWARDS VANTIMAMIDI) , LHS	SIDDIPET	REGULAR	120	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
123	MEDAK TOWN, WITHIN MUNICIPAL LIMITS	MEDAK	REGULAR	130	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	NARSAPUR TOWN, NARSAPUR MANDAL	MEDAK	REGULAR	100	OPEN CC 2	DC	30	30	900	25	45	DRAW OF LOTS	15	5
175	Nacharam Village, on Sh17 , RHS (on Gajwel -Tupran Road)	SIDDIPET	REGULAR	120	OBC CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	4
	From Ibrahimnagar Village to Gagillapur Village, on SH1 , on RHS	SIDDIPET	REGULAR	120	OPEN	CC	30	30	900	25	10	BIDDING	30	5
127	CHERIAL TOWN, WITHIN MUNICIPAL LIMITS	SIDDIPET	REGULAR	130	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
128	From Duddeda Cross Roads to Thimma Reddypalli Village, on SH1 (LHS)	SIDDIPET	REGULAR	120	OBC	CC	30	30	900	25	10	BIDDING	30	4
170	WITHIN 7 KM FROM DUDDEDA CROSS ROADS TOWARDS CHERIAL, ON SH9 , (LHS)	SIDDIPET	REGULAR	120	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
130	FROM MANOHARABAD TO TOOPRAN, ON NH44 , (RHS)	MEDAK	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
131	FROM KUKNOORPALLY VILLAGE (KONDAPAK MANDAL) TO KODAKANDLA VILLAGE (GAJWEL MANDAL), ON SH01, LHS	SIDDIPET	REGULAR	120	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
132	FROM LINGAREDDYPALLY TO RAMUNI PATTA, ON SH01, RHS	SIDDIPET	REGULAR	120	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
133	WITHIN 2 KM FROM NIZAMPET VILLAGE TO KONAPUR , ON SH- 15 (LHS)	MEDAK	REGULAR	120	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
134	FROM SHAMIRPET VILLAGE TO ALIABAD KAMAN ON SH1, (RHS)	MEDCHAL MALKAJGIRI	REGULAR	120	OPEN	CC	30	30	900	25	10	BIDDING	30	5
135	FROM KUKNOORPALLY VILLAGE TO MEDINIPUR VILLAGE, ON SH01 (LHS)	SIDDIPET	REGULAR	120	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
	JAGDEVPUR TOWN, JAGDEVPUR MANDAL	SIDDIPET	REGULAR	130	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	FROM KALLAKAL VILLAGE TO JEEDIPALLY ON NH44 (RHS)	MEDAK	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
138	Siddipet Town , from ambedkar circle to madhira Lingareddypalli , on lhs	SIDDIPET	REGULAR	130	OPEN CC 1	DC	30	30	900	25	45	DRAW OF LOTS	15	5
139	FROM ANANTHA SAGAR VILLAGE TO SHANIGARAM VILLAGE, ON SH-1 , LHS	SIDDIPET	REGULAR	120	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
140	FROM AMBEDKAR CIRCLE TO PONNALA CROSS ROADS (LHS), SIDDIPET TOWN	SIDDIPET	REGULAR	130	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
141	WITHIN 5 KMS FROM INTEGRATED COLLECTARATE COMPLEX (MEDAK) TOWARDS CHEGUNTA ROAD	MEDAK	REGULAR	130	OPEN	CC	30	30	900	25	10	BIDDING	30	5
142	FROM KULCHARAM TO MAMBOJIPALLY, ON SH6 (RHS)	MEDAK	REGULAR	120	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5

143	WITHIN DUDDEDA VILLAGE LIMITS TOWARDS PONNALA VILLAGE, ON SH01 (RHS)	SIDDIPET	REGULAR	120	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
144	WITHIN 3 KM FROM SHAMIRPET POLICE STATION TOWARDS TUMKUNTA( RHS)	MEDCHAL MALKAJGIRI	REGULAR	120	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
145	WITHIN 2.5 KM FROM CHANDRAYANGUTTA CROSS ROAD TOWARDS CHARMINAR, ON LHS	HYDERABAD	REGULAR	150	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
146	WITHIN 4 KMS FROM INDIRA PARK CHOWRASTA, GAJWEL TO JALIGAMA VILLAGE	SIDDIPET	REGULAR	130	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
147	VIVEKANANDA STATUE (GAJWEL) TO PREGNAPUR CIRCLE (PREGNAPUR), ON RHS	SIDDIPET	REGULAR	130	OBC	CC	30	30	900	25	10	BIDDING	30	4
148	WITHIN HABSIPUR VILLAGE LIMITS (ON SIDDIPET- RAMAYAMPET ROAD), LHS	SIDDIPET	REGULAR	120	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
	PREGNAPUR (ON HYERABAD TO SIDDIPET ROAD), ON SH1 (LHS)	SIDDIPET	REGULAR	130	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
150	From Komatipalle to Ramayampet, on NH44 (RHS)	MEDAK	REGULAR	150	OBC PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
151	RAMAYAMPET TOWN, WITHIN MUNICIPAL LIMITS	MEDAK	REGULAR	130	OPEN	CC	30	30	900	25	10	BIDDING	30	5
152	FROM SANTHOSHIMATHA TEMPLE KAMAN (GAJWEL) TO SANGAPUR VILLAGE	SIDDIPET	REGULAR	130	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
153	FROM NAGADEVATHA CROSS ROAD TO IMMAMBAD CROSS ROAD (SIDDIPET BYPASS)	SIDDIPET	REGULAR	130	OBC	CC	30	30	900	25	10	BIDDING	30	4
154	FROM BLOCK OFFICE CROSS ROADS TO PONNALA CROSS ROADS, SIDDIPET TOWN, ON RHS	SIDDIPET	REGULAR	130	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
155	FROM MEDAK OLD BUS STAND TO MEDAK CHURCH(MEDAK TOWN)	MEDAK	REGULAR	130	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
	FROM AMBEDKAR CIRCLE TO MADHIRA LINGAREDDYPALLI ON RHS, SIDDEPET TOWN	SIDDIPET	REGULAR	130	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
157	WITHIN 3 KM FROM BHOOTPUR CHOWRASTHA TOWARDS HYDERABAD,BHOOTPUR, ON LHS (NH-44)	MAHBUBNAGAR	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
158	CHINNADARPALLY VILLAGE ON SH-23,HANWADA MANDAL	MAHBUBNAGAR	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	WITHIN 2 KM FROM MARIKAL CROSS ROAD TOWARDS NARAYANPET ON SH-22, MARIKAL	MAHBUBNAGAR	REGULAR	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
	BETWEEN 84 TO 86 KM STONE FROM JADCHERLA TO BHOOTPUR, ON LHS (NH-44),	MAHBUBNAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
161	WITHIN 2 KM FROM MARIKAL CROSS ROAD TOWARDS RAICHUR ON NH-167, MARIKAL	MAHBUBNAGAR	REGULAR	150	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
162	WITHIN 2 KM FROM KOTRA CROSS ROAD TOWARDS VELDANDA, ON RHS, NH765	NAGARKURNOOL	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
163	WITHIN GADWAL TOWN MUNICIPALITY LIMITS	JOGULAMBA GADWAL	REGULAR	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
164	WITHIN 2 KM FROM PEBBAIR EXIT BYPASS TOWARDS KURNOOL,PEBBAIR, ON LHS (NH-44)	WANAPARTHY	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
165	VELDANDA VILLAGE ON SRISAILAM HIGHWAY - NH 765	NAGARKURNOOL	REGULAR	150	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
166	WITHIN 2 KMS FROM MIDJIL AMBEDKAR STATUE TOWARDS JADCHERLA ON SH-18, ON RHS	MAHBUBNAGAR	REGULAR	105	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
167	WITHIN 2 KM ON NH-765 FROM VANGOOR VILLAGE CHOWRASTA ON NH-765	NAGARKURNOOL	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
168	ON SH-20, WITHIN 1KM FROM DEVUNIPALEM BUS STOP, DEVUNIPALEM VILLAGE	NAGARKURNOOL	REGULAR	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
169	WITHIN 2 KMS FROM RAJIV GANDHI CHOWRASTHA TOWARDS HYDERABAD,KALWAKURTHY TOWN	NAGARKURNOOL	REGULAR	160	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
170	WITHIN 3 KM RADIUS FROM DSP OFFICE, GADWAL TOWN	JOGULAMBA GADWAL	REGULAR	120	OPEN	CC	20	20	400	25	10	BIDDING	30	5
	WITHIN 1 KM FROM MANTHATI CHOWRASTHA TOWARDS NAGARKURNOOL ON SH-20	NAGARKURNOOL	REGULAR	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
172	WANAPARTHY TOWN LIMITS NOT ON SH	WANAPARTHY	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

173	WITHIN 3 KM FROM RAJAPUR BUS STOP, ON LHS (NH-44) HYDERABAD TO BANGLORE	MAHBUBNAGAR	REGULAR	170	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
174	FROM ONE TOWN POLICE STATION AND SVS DENTAL COLLEGE, MAHABUBNAGAR TOWN, ON RHS	MAHBUBNAGAR	REGULAR	140	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
175	2 KMS FROM GADWAL MARKET YARD TOWARDS IEEJA ON GADWAL-IEEJA ROAD	JOGULAMBA GADWAL	REGULAR	140	OPEN PH	DC	25	25	625	25	45	DRAW OF LOTS	15	5
176	WITHIN 2 KMS FROM JADCHERLA FLY OVER TOWARDS MAHABUBNAGAR ON NH-167	MAHBUBNAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
177	JAMMICHEDU VILLAGE ON GADWAL-ERRAVALLI ROAD.	JOGULAMBA GADWAL	REGULAR	130	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
178	WITHIN IEEJA TOWN LIMITS	JOGULAMBA GADWAL	REGULAR	110	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
	WITHIN 1.5 KM FROM BIJINEPALLY CHOWRASTA TOWARDS BHOOTPUR ON SH-20, BIJINEPALLY TOWN	NAGARKURNOOL	REGULAR	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
180	WITHIN MAHABUBNAGAR TOWN MUNICIPALITY LIMITS	MAHBUBNAGAR	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
181	WITHIN NAGARKURNOOL TOWN MUNICIPALITY LIMITS NOT ON SH-20	NAGARKURNOOL	REGULAR	110	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
182	WITHIN 2 KM FROM DEVARAKADRA BUS STAND TOWARDS RAICHUR ON NH-167	MAHBUBNAGAR	REGULAR	165	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
183	MAKTHAL TOWN MUNICIPALITY LIMITS NOT ON NH-167	MAHBUBNAGAR	REGULAR	120	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
184	NARAYANPET TOWN MUNICIPALITY LIMITS NOT ON SH-22	MAHBUBNAGAR	REGULAR	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
185	WITHIN KOTHAKOTA TOWN MUNICIPALITY LIMITS ON ATMAKUR ROAD	WANAPARTHY	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
186	FROM MINDSPACE JUNCTION TO CYBER TOWERS	RANGA REDDY	REGULAR	200	OPEN	CC	20	20	400	25	10	BIDDING	30	5
187	ON VENGALRAO NAGAR ROAD	HYDERABAD	REGULAR	220	OPEN CC 1	DC	20	30	600	25	60	DRAW OF LOTS	15	5
188	FROM HDFC BANK TO GANESH TEMPLE, WEST MAREDPALLY ROAD, ON LHS	HYDERABAD	REGULAR	220	OBC	CC	20	30	600	25	10	BIDDING	30	4
189	FROM MOTINAGAR JUNCTION TO REHMAT NAGAR	HYDERABAD	REGULAR	200	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
190	WITHIN 1 KM FROM GNT CIRCLE ON NALLAGANDLA - TELLAPUR ROAD, ON RHS	RANGA REDDY	REGULAR	275	OPEN	CC	20	20	400	25	10	BIDDING	30	5
191	FROM LIBERTY CROSS ROAD TO NARAYANGUDA	HYDERABAD	REGULAR	200	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
192	FROM TIRUMALGIRI JUNCTION UPTO 1 KM ON TIRUMALGIRI BOLARAM ROAD, ON LHS	HYDERABAD	REGULAR	250	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
193	FROM SHEIKPET TO 7 TOMBS ROAD, UPTO 1 KM FROM SHEIKPET, ON LHS	HYDERABAD	REGULAR	320	OPEN	СС	20	30	600	25	10	BIDDING	30	5
194	FROM KUKATPALLY TO VASANTH NAGAR DOUBLE ROAD, ON KPHB 9TH PHASE ROAD	MEDCHAL MALKAJGIRI	REGULAR	250	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
195	ON KPHB 5TH PHASE MAIN ROAD, FROM KUKATPALLY TO THE JUNCTION OF GREEN HILLS ROAD AND KPHB 4TH PHASE ROAD	MEDCHAL MALKAJGIRI	REGULAR	250	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
196	FROM MOTINAGAR JUNCTION UPTO VIVEKANANDA STATUE, ON BORABANDA -ALLAPUR ROAD	HYDERABAD	REGULAR	200	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
197	FROM BOTANICAL GARDEN ROAD UPTO MASJID BANDA VILLAGE, ON LHS	RANGA REDDY	REGULAR	350	OPEN	СС	20	20	400	25	10	BIDDING	30	5
198	ON VASANTH NAGAR DOUBLE ROAD (KUKATPALLY)	MEDCHAL MALKAJGIRI	REGULAR	250	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
199	FROM LINGAMPALLY TO CHANDANAGAR, ON RHS	RANGA REDDY	REGULAR	180	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
200	FROM RAIDURG CROSS ROAD TO KHAJAGUDA ROAD, WITHIN 2 KM FROM RAIDURG CROSS ROAD, ON LHS	RANGA REDDY	REGULAR	375	OPEN	CC	20	20	400	25	10	BIDDING	30	5
201	FROM MIYAPUR TO HAFEEZPET ON GACHIBOWLI - MIYAPUR ROAD, ON LHS	RANGA REDDY	REGULAR	430	OPEN	CC	20	20	400	25	10	BIDDING	30	5
	BANJARA HILLS ROAD NO.12, HYDERABAD	HYDERABAD	REGULAR	280	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
203	MINISTERS' ROAD, HYDERABAD	HYDERABAD	REGULAR	280	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
204	GUNROCK ENCLAVE ROAD NEAR WAHAB NAGAR, SIKH VILLAGE, ON STAFF ROAD	HYDERABAD	REGULAR	240	OPEN	CC	20	20	400	25	10	BIDDING	30	5
205	ON KPHB ROAD NO 1	MEDCHAL MALKAJGIRI	REGULAR	250	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5

206	NALLAGANDLA TO GOPANPALLY POST OFFICE, ON LHS	RANGA REDDY	REGULAR	290	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
	ON BANJARA HILLS ROAD NO 1	HYDERABAD	REGULAR	180	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
208	GUTTALABEGUMPET, ON MADHAPUR ROAD	RANGA REDDY	REGULAR	410	OPEN	CC	25	25	625	25	10	BIDDING	30	5
	KHAJAGUDA CROSS ROAD DARGAH JUNCTION NEAR LIDCAP, 1		1											
209	KM ON EITHER SIDE	RANGA REDDY	REGULAR	390	OPEN	CC	25	25	625	25	10	BIDDING	30	5
210	FROM TARNAKA TO METTUGUDA	HYDERABAD	REGULAR	240	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
211	ON JUBILEE HILLS ROAD NO. 45	HYDERABAD	REGULAR	370	OPEN	CC	20	30	600	25	10	BIDDING	30	5
212	ON KPHB 13TH PHASE ROAD	MEDCHAL MALKAJGIRI	REGULAR	230	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
213	FROM BALKAMPET TO FATEHNAGAR MAIN ROAD	MEDCHAL MALKAJGIRI	REGULAR	250	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
	ON KPHB 6TH PHASE ROAD	MEDCHAL MALKAJGIRI	REGULAR	230	OPEN CC 1	DC	20	20	400	25	60	DRAW OF LOTS	15	5
214	FROM WIPRO JUNCTION UPTO ORR, ON ISB ROAD, FINANCIAL		KLOOLAK	230	OI LIV CC I	DC	20	20	400	23	00	DIAW OF LOTS	10	
215	DISTRICT	RANGA REDDY	REGULAR	200	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
	FROM KONDAPUR JUNCTION TO GACHIBOWLI FLYOVER MAIN		1		1									
216	ROAD	RANGA REDDY	REGULAR	200	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
217	FROM MEHDIPATNAM TO GUDIMALKAPUR, ON LHS	HYDERABAD	REGULAR	230	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
217	ON MADHAPUR ROAD, KAVURI HILLS, WITHIN 1 KM FROM	HTDERADAD	REGULAR	230	OBC	DC	20	20	400	23	00	DRAW OF LOTS	10	4
218	HOTEL JUBILLEE RIDGE	RANGA REDDY	REGULAR	454	OPEN	CC	20	20	400	25	10	BIDDING	30	5
			+		<b> </b>									
219	FROM KOTHAGUDA JUNCTION TO CYBER TOWERS VIA	RANGA REDDY	REGULAR	200	OPEN	CC	20	20	400	25	10	BIDDING	30	5
	SHILPARAMAM ROAD, ON LHS	DANICA DEDDY	DECLUAD	200		CEC	20	20	400	0	0	DDAW OF LOTC	0	2
220 221	FROM NANAKRAMGUDA TO KHAJAGUDA, ON LHS FROM BEGUMPET TO BANJARA HILLS ROAD NO 2	RANGA REDDY HYDERABAD	REGULAR REGULAR	300 280	SC OBC	CFS DC	20	20 30	400 600	0	0 60	DRAW OF LOTS DRAW OF LOTS	15	3
	FROM MAITRIVANAM TO AG COLONY, ON LHS	HYDERABAD	REGULAR	340		CC		20	400	25 25	10	BIDDING	30	
222	·				OPEN CC 2		20							5
223	FROM GVK MALL TO MASAB TANK, ON LHS	HYDERABAD	REGULAR	250	OPEN CC 2	DC	25	25	625	25	60	DRAW OF LOTS	15	5
	ON BANJARA HILLS ROAD NO 10	HYDERABAD	REGULAR	280	OBC CC 1	DC	20	30	600	25	60	DRAW OF LOTS	15	4
225	TARNAKA CROSS ROAD TO HUBSIGUDA, ON LHS	MEDCHAL MALKAJGIRI	REGULAR	240	SC CC 1	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
226	FROM METRO STATION, MIYAPUR TOWARDS CHANDANAGAR	RANGA REDDY	REGULAR	380	OPEN	CC	30	30	900	25	10	BIDDING	30	5
	UPTO 1 KM ON LHS													
227	FROM KOTHAPET JUNCTION TOWARDS SAROORNAGAR ON	RANGA REDDY	REGULAR	306	OPEN	CC	20	20	400	25	10	BIDDING	30	5
228	HUDA COLONY ROAD, ON RHS ON JUBILEE HILLS ROAD NO 1	HYDERABAD	REGULAR	280	OBC	DC	20	30	600	)E	60	DRAW OF LOTS	15	4
220	ON JUBILLE HILLS ROAD NO 1	HTDERADAD	REGULAR	200	OBC	DC	20	30	000	25	00	DRAW OF LOTS	13	4
229	WITHIN 2 KM FROM MEHDIPATNAM TO ATTAPUR, ON LHS	HYDERABAD	REGULAR	200	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
			+											
230	WITHIN 1 KM FROM MUPPAS COLONY (PANCHAVATI COLONY)	RANGA REDDY	REGULAR	240	OPEN	CC	20	20	400	25	10	BIDDING	30	5
230	TO SHIVALAYA TEMPLE,ON LANCO HILLS ROAD, ON LHS	KANGA KEDDI	KLOOLAK	240	OLLIN	00	20	20	400	23	10	DIDDING	30	3
	FROM NANAKRAMGUDA TO NARSINGI ALONG ORR SERVICE		+		1									
231	ROAD, ON LHS	RANGA REDDY	REGULAR	350	OPEN	CC	20	20	400	25	10	BIDDING	30	5
	JALAVAYU VIHAR ROAD, KUKATPALLY	MEDCHAL MALKAJGIRI	REGULAR	310	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
233	FROM JNTU CIRCLE TO Y JUNCTION, ON LHS	MEDCHAL MALKAJGIRI	REGULAR	320	OPEN	CC	20	20	400	25	10	BIDDING	30	5
234	FROM GOPANPALLY TO NALLAGANDLA, ON LHS	RANGA REDDY	REGULAR	270	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
235	FROM HAFEEZPET TO KONDAPUR JUNCTION, ON LHS	RANGA REDDY	REGULAR	500	OPEN	CC	20	20	400	25	10	BIDDING	30	5
	FROM GOWLIDUDDI TO GOPANPALLY ON GOPANPALLI MAIN		1											
236	ROAD, ON LHS	RANGA REDDY	REGULAR	330	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
			+ +		<del>                                     </del>									
237	FROM PVNR EXPRESSWAY PILLAR NO 279 TO ATTAPUR, ON LHS	RANGA REDDY	REGULAR	200	OPEN CC 1	DC	20	30	600	25	60	DRAW OF LOTS	15	5
238	FROM RTC CROSSROAD TO SHANKER MUTT	HYDERABAD	REGULAR	220	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	FROM GOWLIDUDDI TO GOPANPALLY ON GOPANPALLY MAIN		1											
239	ROAD, ON RHS	RANGA REDDY	REGULAR	370	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
	FROM KOKAPET JUNCTION TO CBIT ROAD NEAR GOLDEN MINES		1		<u> </u>									
240	ON ORR SERVICE ROAD	RANGA REDDY	REGULAR	320	OPEN	CC	20	20	400	25	10	BIDDING	30	5
241	FROM HUBSIGUDA TO TARNAKA FLYOVER , ON LHS	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
242	FROM KHAIRATABAD TO AMEERPET	HYDERABAD	REGULAR	200	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
243	FROM TIRUMALGIRI TO PARADISE CROSSROADS	HYDERABAD	REGULAR	230	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
			.======							-		0	_	

	UPTO 2 KM FROM MINDSPACE JUNCTION TO BOTANICAL PARK													_
244	ROAD	RANGA REDDY	REGULAR	320	OPEN	CC	20	20	400	25	10	BIDDING	30	5
245	ON LHS FROM MOOSAPET TO KUKATPALLY	MEDCHAL MALKAJGIRI	REGULAR	300	OPEN	CC	20	20	400	25	10	BIDDING	30	5
246	ON RHS BETWEEN L B NAGAR TO CHINTHALKUNTA	RANGA REDDY	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
247	BETWEEN NARAPALLY TO KORREMULA	MEDCHAL MALKAJGIRI	REGULAR	200	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
248	ON RHS BETWEEN MEDCHAL BUS STAND TO ATTELI VILLAGE LIMITS. ON NH-44	MEDCHAL MALKAJGIRI	REGULAR	210	OPEN	CC	55	55	3025	25	10	BIDDING	30	5
249	ON LHS FROM MEDCHAL TO KISTAPUR	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
250	ON LHS BETWEEN MEDCHAL ORR TILL KOMPALLY BRIDGE	MEDCHAL MALKAJGIRI	REGULAR	200	OBC PH	DC	30	30	900	25	60	DRAW OF LOTS	15	4
251	ON OLD ALWAL ROAD TO LOYOLLA COLLEGE ROAD	MEDCHAL MALKAJGIRI	REGULAR	190	ST PH	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
252	ON LHS BETWEEN NAGARAM CROSS ROAD TO RAMPALLY	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
253	BETWEEN RAMPALLY CROSS ROAD TO GHATKESAR	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
254	WITHIN 2 KM ON CHILKANAGAR ROAD FROM NACHARAM CROSS ROAD ON RHS	MEDCHAL MALKAJGIRI	REGULAR	210	OBC	CC	30	30	900	25	10	BIDDING	30	4
255	FROM JNTU CROSS ROAD TO NIZAMPET CROSS ROAD, KUKATPALLY	MEDCHAL MALKAJGIRI	REGULAR	220	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
256	DUNDIGAL VILLAGE LIMITS, (NARSAPUR ROAD - AERONAUTICAL ENGG COLLEGE ROAD)	MEDCHAL MALKAJGIRI	REGULAR	170	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
257	ON LHS FROM MEDCHAL BUS STAND TO ATTELI VILLAGE ON NH- 44	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
258	MANSOORABAD TO NH-65 NOT ON NH	RANGA REDDY	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
259	PEDDAMBARPET TO HAYATNAGAR, ON LHS	RANGA REDDY	REGULAR	200	OPEN	CC	30	30	900	25	10	BIDDING	30	5
260	ALWAL HILLS, ROAD NO 9	MEDCHAL MALKAJGIRI	REGULAR	180	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
261	ON LHS BETWEEN RADHIKA THEATER TO SBI SAKET BRANCH	MEDCHAL MALKAJGIRI	REGULAR	220	OBC	CC	25	30	750	25	10	BIDDING	30	4
262	BETWEEN TARAMATHIPET JUNCTION TO SADDUPALLY VILLAGE LIMITS	RANGA REDDY	REGULAR	180	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
263	BETWEEN SURYANAGAR COLONY TO KOMPALLY	MEDCHAL MALKAJGIRI	REGULAR	190	OPEN CC 1	DC	25	25	625	25	60	DRAW OF LOTS	15	5
264	ON LHS FROM NAGOLE TO KAMINENI HOSPITAL	MEDCHAL MALKAJGIRI	REGULAR	200	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
265	ON LHS UPPAL CROSS ROAD TO HABSIGUDA	MEDCHAL MALKAJGIRI	REGULAR	200	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
266	HAYATHNAGAR OLD HIGHWAY ROAD	RANGA REDDY	REGULAR	210	OPEN	CC	30	30	900	25	10	BIDDING	30	5
267	GAGILLAPUR VILLAGE LIMITS, LHS ON NARSAPUR ROAD	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
268	BETWEEN HAYATHNAGAR BUS DEPOT AND KUNTLOOR CROSS ROAD, NOT ON NH	RANGA REDDY	REGULAR	200	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
269	BETWEEN RAJEEV GRUHAKALPA, KUNTLOOR AND GOURELLI VILLAGE	RANGA REDDY	REGULAR	200	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
270	BETWEEN RISALA BAZAR AND KOMPALLY	MEDCHAL MALKAJGIRI	REGULAR	160	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
271	GAUTHAM NAGAR COLONY, VANASTHALIPURAM	RANGA REDDY	REGULAR	200	OPEN	CC	25	25	625	25	10	BIDDING	30	5
272	BETWEEN NAGARAM AND DAMMAIGUDA	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	CC	30	30	900	25	10	BIDDING	30	5
273	ON RHS FROM ECIL CROSS ROAD TO RAMAKRISHNAPURAM BRIDGE	MEDCHAL MALKAJGIRI	REGULAR	220	OBC CC 1	DC	25	25	625	25	60	DRAW OF LOTS	15	4
274	ON RHS ECIL CROSS ROAD TO CHAKRIPURAM	MEDCHAL MALKAJGIRI	REGULAR	200	ST CC 1	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
275	ON LHS BETWEEN MEDCHAL TOWN AND MEDCHAL ORR CIRCLE TOWARDS HYDERABAD	MEDCHAL MALKAJGIRI	REGULAR	190	OPEN PH	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
276	WITHIN 1.5 KM FROM BODUPPAL KHAMAN TOWARDS BODUPPAL MUNICIPAL OFFICE	MEDCHAL MALKAJGIRI	REGULAR	190	OBC	CC	25	25	625	25	10	BIDDING	30	4
277	ON RHS BETWEEN GHATKESAR AND AUSHAPUR ON NEW NH- 163	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
278	ON LHS FROM PRAGATHINAGAR TO BACHUPALLY CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	200	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
279	ON NH65 FROM VANASTHALIPURAM TO HAYATHNAGAR BUS STAND, RHS	RANGA REDDY	REGULAR	210	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
280	ON LHS, BETWEEN KOMPALLY AND MEDCHAL ORR	MEDCHAL MALKAJGIRI	REGULAR	210	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4

281	ON LHS FROM ECIL CROSS ROAD TO RAMAKRISHNAPURAM IBRIDGE	MEDCHAL MALKAJGIRI	REGULAR	210	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
282	WITHIN 1.5 KM FROM KOMPALLY BRIDGE TOWARDS DEVARAYAMJAL VILLAGE	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
283	ON RHS FROM PRAGATHINAGAR TO BACHUPALLY CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	220	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
284	ON LHS BETWEEN BAHADURPALLY CROSS ROAD AND BAHADURPALLY VILLAGE LIMITS	MEDCHAL MALKAJGIRI	REGULAR	220	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
285	BETWEEN BALAJINAGAR AND JAWAHARNAGAR TOWARDS DAMMAIGUDA	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
286	ON LHS BETWEEN BAHADURPALLY CROSS ROAD TO SHAPURNAGAR CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	5
287	ON LHS BETWEEN GANDIMAISAMMA CROSS ROAD AND PRAGATHINAGAR	MEDCHAL MALKAJGIRI	REGULAR	180	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
288	BETWEEN SAFILGUDA AND TUKARAM GATE	MEDCHAL MALKAJGIRI	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
289	FROM NAGARAM CROSS ROAD TO BANDLAGUDA, ON RHS TOWARDS KEESARA	MEDCHAL MALKAJGIRI	REGULAR	190	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
290	ON LHS FROM NAGOLE TO UPPAL CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	210	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
291	ON LHS BETWEEN BACHUPALLY CROSS ROAD AND MIYAPUR CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	210	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
292	ON RHS BETWEEN GANDIMAISAMMA X ROAD AND PRAGATHINAGAR	MEDCHAL MALKAJGIRI	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
293	ON LHS OLD HIGHWAY BETWEEN GHATKESAR ORR CROSS ROAD AND GHATKESAR BUS STAND	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
294	ON LHS FROM KOMPALLY TO PETBASHEERABAD	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	DC	25	30	750	25	60	DRAW OF LOTS	15	5
295	BETWEEN AYODHAYA CROSS ROAD TO BASURAGADI	MEDCHAL MALKAJGIRI	REGULAR	150	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
296	FROM VIVEKANANDA STATUE (GAJWEL) TO PREGNAPUR CIRCLE (PREGNAPUR), ON LHS	SIDDIPET	REGULAR	130	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
297	FROM MADDIKUNTA VILLAGE TO SURARAM VILLAGE, SADASHIVPET MANDAL ON NH65, ON RHS	SANGAREDDY	REGULAR	160	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
298	ON RHS OF NEW ZAHEERABAD BYPASS (ON HYDERABAD - MUMBAI ROAD(NH65))	SANGAREDDY	REGULAR	199	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
299	BETWEEN ANANDBAGH CROSS ROAD AND ZONAL RAILWAY TRAINING INSTITUTE (ZRTI)-MOULA ALI	MEDCHAL MALKAJGIRI	REGULAR	170	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
300	BETWEEN SIRIGIRIPALLY TO GANESHPALLY VILLAGE, ON SH17, RHS	SIDDIPET	REGULAR	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
301	ON RHS WITHIN 1 KM FROM BACHUPALLY CROSS ROAD UPTO MALLAMPET ROAD	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	CC	30	30	900	25	10	BIDDING	30	5
302	ON NALLAKUNTA MAIN ROAD	HYDERABAD	REGULAR	230	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
303	BETWEEN DULAPALLY CROSS ROAD AND KOMPALLY CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
304	FROM MRUGAVANI NATIONAL PARK TO MOINABAD (SH4), ON RHS	RANGA REDDY	REGULAR	200	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
305	MAYURI PARK TO NAKKAL BANDA THANDA ON NH-167	MAHBUBNAGAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
306	FROM MOOSAPET TO SANATHNAGAR, ON LHS	MEDCHAL MALKAJGIRI	REGULAR	250	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
307	FROM BHEL CROSS ROADS TO RAMACHANDRAPURAM ON NH- 65, ON LHS	SANGAREDDY	REGULAR	255	OPEN	DC	30	30	900	25	75	DRAW OF LOTS	15	5
308	BETWEEM VIVEKANANDA CIRCLE AND VIJAYA DAIRY CENTER ON PEBBAIR ROAD, WANAPARTHY TOWN	WANAPARTHY	REGULAR	150	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
309	FROM BIJINAPALLY CHOWRASTA TOWARDS NAGARKURNOOL ON SH-20, BIJINEPALLY TOWN LIMITS	NAGARKURNOOL	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
310	FROM INTERSECTION AT OLD KURNOOL ROAD TO ARAMGARH CROSS ROAD, ON (LHS)	RANGA REDDY	REGULAR	152	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4

311	FROM CHANDRAYANGUTTA CROSSING TO ARAMGARH CROSSING, ON RHS	RANGA REDDY	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
312	FROM TUKKUGUDA CROSS ROAD TO BONGLOOR CROSS ROAD, ON RHS	RANGA REDDY	REGULAR	154	OPEN CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	5
1 414	FROM PEDDA GOLKONDA CROSS ROAD TO TUKKUGUDA CROSS ROAD, ON RHS	RANGA REDDY	REGULAR	173	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
314	WITHIN 2.0 KM FROM TIPPUKHAN BRIDGE TOWARDS TSPA JUNCTION, GANDIPET MANDAL, ON RHS	RANGA REDDY	REGULAR	206	SC	CFS	25	30	750	0	0	DRAW OF LOTS	0	3
315	FROM GADDIANNARAM CROSS ROADS TO NALGONDA CROSS ROAD, ON RHS	HYDERABAD	REGULAR	176	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
316	FROM MUCHINTAL TO THONDAPALLI, ON NH44 (LHS)	RANGA REDDY	REGULAR	194	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
317	FROM PVNR EXPRESSWAY PILLAR NO. 293 TO INTERSECTION AT RAJENDRANAGAR MAIN ROAD, VIA SAKAL BASTI	RANGA REDDY	REGULAR	150	OBC	DC	25	30	750	25	60	DRAW OF LOTS	15	4
318	FROM THONDAPALLI TO MUCHINTAL, ON NH44 (LHS)	RANGA REDDY	REGULAR	197	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1 310	WITHIN 1.5KM FROM CHATTANPALLI VILLAGE TOWARDS BENGALURU, ON NH44 LHS	RANGA REDDY	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
320	ON SHAMSHABAD TO MAMIDIPALLY ROAD	RANGA REDDY	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
	WITHIN 6 KM FROM THUMMALOOR VILLAGE TOWARDS HYDERABAD, ON NH765 (LHS)	RANGA REDDY	REGULAR	155	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
322	FROM MALKARAM VILLAGE TO RALLAGUDA VILLAGE, SHAMSHABAD MANDAL	RANGA REDDY	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
323	WITHIN 2 KM FROM TUKKUGUDA CROSS ROADS TOWARDS SRISAILAM, ON NH765 (LHS)	RANGA REDDY	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
324	WITHIN 2 KM FROM AMANGAL VILLAGE TOWARDS SRISAILAM, ON NH765 (RHS)	RANGA REDDY	REGULAR	164	OPEN CC 2	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
325	GURRAMGUDA VILLAGE	RANGA REDDY	REGULAR	154	OBC CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	4
326	ON RALLAGUDA ROAD, FROM SHAMSHABAD SUB-REGISTRAR OFFICE TO INTERSECTION OF NH44/AIRPORT ROAD	RANGA REDDY	REGULAR	154	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
	FROM KM STONE NO. 43 TO KOTHUR GATE, ON NH765 (LHS)	RANGA REDDY	REGULAR	208	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
328	WITHIN 2 KM FROM AMANGAL VILLAGE TOWARDS SRISAILAM, ON NH765 (LHS)	RANGA REDDY	REGULAR	164	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
329	KISMATPUR, GANDIPET MANDAL	RANGA REDDY	REGULAR	157	OPEN	DC	25	30	750	25	60	DRAW OF LOTS	15	5
330	WITHIN 6 KM FROM THUMMALOOR VILLAGE TOWARDS HYDERABAD, ON NH765 (RHS)	RANGA REDDY	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
331	FROM KM STONE NO. 43 TO KANDUKUR GATE, ON NH765 (RHS)	RANGA REDDY	REGULAR	206	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
	GOLLAPALLE VILLAGE ON MANSANPALLY HIGHWAY, ON RHS	RANGA REDDY	REGULAR	160	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	KARKALPAHAD VILLAGE, ON NH765	RANGA REDDY	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
334	WITHIN 3 KM FROM TSPA JUNCTION TOWARDS LANGERHOUZ, GANDIPET MANDAL, ON LHS	RANGA REDDY	REGULAR	241	OPEN	CC	25	30	750	25	10	BIDDING	30	5
335	FROM BADANGPET OLD GRAM PANCHAYAT OFFICE TO BALAPUR- AIRPORT ROAD	RANGA REDDY	REGULAR	155	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
336	WITHIN 5 KM FROM TUKKUGUDA ORR CROSSING TOWARDS HYDERABAD, ON NH765 (RHS)	RANGA REDDY	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
337	WITHIN 2 KM FROM RAIKAL TOLL PLAZA TOWARDS MEHBUBNAGAR, ON NH44 (RHS)	RANGA REDDY	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
338	WITHIN 1.5 KM FROM TIPPUKHAN BRIDGE TOWARDS TSPA JUNCTION, GANDIPET MANDAL, ON LHS	RANGA REDDY	REGULAR	194	OPEN CC 1	DC	25	30	750	25	60	DRAW OF LOTS	15	5
339	KOHEDA VILLAGE, ABDULLAPURMET MANDAL	RANGA REDDY	REGULAR	152	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4

340	WITHIN 6KMS FROM YACHARAM BUS STAND TOWARDS GUNGAL, ON SH19 (RHS)	RANGA REDDY	REGULAR	159	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
341	AMBERBET TO DILSUKHNAGAR ROAD NEAR ALI CAFÉ, ONE KM ON EITHER SIDE	RANGA REDDY	REGULAR	330	OPEN	CC	20	30	600	25	10	BIDDING	30	5
349	ON 100 FEET ROAD FROM METRO MALL KUKATPALLY TO JAGADGIRIGUTTA	MEDCHAL MALKAJGIRI	REGULAR	260	OPEN	CC	20	20	400	25	10	BIDDING	30	5
3/13	FROM NARSAPUR CHOWRASTA TO SHIVAMPET VILLAGE, ON SH17, RHS	MEDAK	REGULAR	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
344	WITHIN 4 KM RADIUS OF NIZAMPET VILLAGE	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
345	POTHULAMADUGU VILLAGE, BHOOTPUR MANDAL, ON LHS (NH-44) HYDERABAD - KURNOOL,	MAHBUBNAGAR	REGULAR	180	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
	WITHIN 2 KM FROM TSPA JUNCTION TOWARDS LANGERHOUZ, GANDIPET MANDAL, ON RHS	RANGA REDDY	REGULAR	197	OPEN	DC	25	30	750	25	60	DRAW OF LOTS	15	5
34/	FROM TRIVENINAGAR CROSS ROAD TO GURRAMGUDA CROSS ROAD, ON RHS (ALMASGUDA ROAD)	RANGA REDDY	REGULAR	153	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
3/10/	FROM TRIVENINAGAR CROSS ROAD TO GURRAMGUDA CROSS ROAD, ON LHS (ALMASGUDA ROAD)	RANGA REDDY	REGULAR	153	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
349	GOLLAPALLE VILLAGE ON MANSANPALLY HIGHWAY, ON LHS	RANGA REDDY	REGULAR	160	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
350	WITHIN 6KM FROM KM STONE NO. 40 TOWARDS KHANAPUR, ON SH19 (RHS)	RANGA REDDY	REGULAR	159	OBC PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
351	WITHIN 6KMS FROM YACHARAM BUS STAND TOWARDS GUNGAL, ON SH19 (LHS)	RANGA REDDY	REGULAR	159	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
352	FROM PVNR EXPRESS WAY PILLAR NO. 216 TO RAJENDRANAGAR ORR CROSS ROADS ON LHS	RANGA REDDY	REGULAR	157	OPEN	CC	30	30	900	25	10	BIDDING	30	5
353	WITHIN 2 KM FROM YACHARAM POLICE STATION TOWARDS NAGARJUNA SAGAR, ON SH19 (RHS)	RANGA REDDY	REGULAR	159	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
354	WITHIN 6KM FROM KM STONE NO. 40 TOWARDS KHANAPUR, ON SH19 (LHS)	RANGA REDDY	REGULAR	159	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
355	FROM RAJEEVSHETTY NAGAR TO R N REDDY COLONY, ON TKR COLLEGE ROAD	RANGA REDDY	REGULAR	159	OPEN	CC	25	30	750	25	10	BIDDING	30	5
356	FROM SRIRAMANA COLONY TO CHAITANYA NAGAR (ZP ROAD)	RANGA REDDY	REGULAR	158	OPEN	DC	25	30	750	25	60	DRAW OF LOTS	15	5
357	TURKAYAMJAL TO NADERGUL, ABDULLAPURMET MANDAL	RANGA REDDY	REGULAR	158	OBC	DC	25	30	750	25	60	DRAW OF LOTS	15	4
358	FROM HAZRATH SHAH MEERAN HUSSAINI SARKAR DARGAH SHAREEF TO NANAL NAGAR CIRCLE (LHS)	HYDERABAD	REGULAR	233	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	FROM MEERPET CROSS ROADS TO BADANGPET ROAD	RANGA REDDY	REGULAR	153	OPEN	DC	25	30	750	25	60	DRAW OF LOTS	15	5
360	FROM JNTU TO KPHB ROAD, FORUM MALL JUNCTION, OPPOSITE FORUM MALL ONE KM ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	CC	20	26	520	25	10	BIDDING	30	5
	FROM JUBILEE HILLS CHECKPOST TO FILM NAGAR	HYDERABAD	REGULAR	210	OPEN	CC	20	30	600	25	10	BIDDING	30	5
	FROM KACHIGUDA TO ABIDS	HYDERABAD	REGULAR	230	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
	FROM IIIT TO HYDERABAD CENTRAL UNIVERSITY, ON LHS	RANGA REDDY	REGULAR	280	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	FROM MALLEPALLY TO GOSHAMAHAL, ON RHS	HYDERABAD	REGULAR	200	OPEN CC 1	DC	20	30	600	25	60	DRAW OF LOTS	15	5
	BHOIGUDA, 2 KM RADIUS	HYDERABAD	REGULAR	220	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
	ON IDL ACCESS ROAD, KUKATPALLY	MEDCHAL MALKAJGIRI	REGULAR	320	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
	FROM PUTLIBOWLI TO MOJAMJAHIMARKET	HYDERABAD	REGULAR	220	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
	FROM VIDYANAGAR TO SHIVAM ROAD	HYDERABAD	REGULAR	180	OPEN	DC	20 20	30	600	25 25	60	DRAW OF LOTS	15	5 4
	FROM MUSHEERABAD CROSS ROAD TO TANK BUND ON PRAGATHINAGAR ROAD, TULASI NAGAR	HYDERABAD MEDCHAL MALKAJGIRI	REGULAR REGULAR	200	OBC OPEN	DC DC	20	30 26	600 520	25 25	60	DRAW OF LOTS DRAW OF LOTS	15 15	5
	ON PRAGATHINAGAR ROAD, TULASI NAGAR ON JUBILLEE HILLS ROAD NO 36 MAIN ROAD	HYDERABAD	REGULAR	350	OPEN	DC	20	30	600	25 25	60	DRAW OF LOTS  DRAW OF LOTS	15	5
	FROM NAMPALLY CROSS ROADS TO AFZALGUNJ	HYDERABAD	REGULAR	220	SC CC 1	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
	ON MALAKUNTA ROAD, GOSHAMAHAL	HYDERABAD	REGULAR	220	OBC CC 1	DC	20	30	600	25	60	DRAW OF LOTS	15	4
	FROM IIIT TO BIODIVERSITY PARK JUNCTION, ON LHS	RANGA REDDY	REGULAR	350	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5

375	FROM NARAYANGUDA CROSS ROAD TO JAMBAGH CROSS ROAD	HYDERABAD	REGULAR	220	OPEN PH	DC	20	30	600	25	60	DRAW OF LOTS	15	5
274	, ON LHS ON RAIL NILAYAM ROAD	HYDERABAD	REGULAR	220	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
376 377	ON SARDAR PATEL ROAD	HYDERABAD	REGULAR	220	OBC	DC	25	25	625	25	60	DRAW OF LOTS  DRAW OF LOTS	15	4
378	BANJARAHILLS ROAD NO.11, HYDERABAD	HYDERABAD	REGULAR	200	OPEN	CC	20	30	600	25	10	BIDDING	30	5
379	ON SAROJINI DEVI ROAD	HYDERABAD	REGULAR	240	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
	ON BACHUPALLY ROAD, FROM PRAGATHI NAGAR ROAD												10	
380	JUNCTION UPTO SURARAM ROAD JUNCTION	MEDCHAL MALKAJGIRI	REGULAR	270	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
381	ON KHAJAGUDA ROAD, WITHIN 1 KM ON EACH SIDE FROM OAKRIDGE SCHOOL	RANGA REDDY	REGULAR	200	OPEN	CC	25	25	625	25	10	BIDDING	30	5
382	FROM TOWLI CHOKI TO SHEIKPET, ON LHS	HYDERABAD	REGULAR	260	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
383	FROM BIODIVERSITY PARK TO IIIT, ON LHS	RANGA REDDY	REGULAR	250	OPEN	CC	20	20	400	25	10	BIDDING	30	5
384	FROM JUBILLEE HILLS CHECKPOST TO CHIRANJEEVI BLOOD BANK	HYDERABAD	REGULAR	240	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
385	MADINAGUDA (CHANDANAGAR TO MIYAPUR ROAD), ON LHS	RANGA REDDY	REGULAR	250	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
386	ON USHAMULLAPUDI ROAD, KUKATPALLY	MEDCHAL MALKAJGIRI	REGULAR	324	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
387	FROM MASJID BANDA VILLAGE TO LINGAMPALLY	RANGA REDDY	REGULAR	270	OPEN CC 1	DC	20	20	400	25	60	DRAW OF LOTS	15	5
388	MADINAGUDA (ON CHANDANAGAR TO MIYAPUR ROAD), ON RHS	RANGA REDDY	REGULAR	270	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
389	FROM MANIKONDA TO PUPPALAGUDA	RANGA REDDY	REGULAR	270	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
390	FROM LINGAMPALLY TO CHANDANAGAR, ON LHS	RANGA REDDY	REGULAR	160	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
391	FROM LAKDIKAPUL TO MEHDIPATNAM, ON LHS	HYDERABAD	REGULAR	310	OBC	DC	20	30	600	25	60	DRAW OF LOTS	15	4
392	FROM MUSHEERABAD TO SANGEETH JUNCTION	HYDERABAD	REGULAR	200	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
393	NEAR INORBIT MALL ROAD ONE KM ON EITHER SIDE OF THE MALL	RANGA REDDY	REGULAR	370	OPEN	CC	20	20	400	25	10	BIDDING	30	5
394	ON BANJARA HILLS ROAD NO 3	HYDERABAD	REGULAR	260	ST	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
395	FROM HAFEEZPET TO CHANDANAGAR ON MANJEERA PIPELINE ROAD	RANGA REDDY	REGULAR	210	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
396	FROM MADHAPUR TO HITEC CITY	RANGA REDDY	REGULAR	360	OPEN	CC	20	20	400	25	10	BIDDING	30	5
397	FROM RTC CROSSROADS TO NEW NALLAKUNTA, ON LHS	HYDERABAD	REGULAR	180	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
398	ON KANCHI GACHIBOWLI ROAD FROM GOPANPALLY TO VATTINAGUNAPALLY UPTO SOS CHILDRENS VILLAGE, ON RHS	RANGA REDDY	REGULAR	190	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
399	FROM MIYAPUR JUNCTION TO BACHUPALLY	MEDCHAL MALKAJGIRI	REGULAR	300	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
400	ON BEGUMPET MAIN ROAD NEAR HOCKEY STADIUM ONE KM ON EITHER SIDE	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	CC	20	20	400	25	10	BIDDING	30	5
401	FROM ANNOJIGUDA TO INFOSYS CAMPUS VIA SINGAPUR TOWNSHIP	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
402	GUNDLAPOCHAMPALLY VILLAGE LIMITS	MEDCHAL MALKAJGIRI	REGULAR	150	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
403	ON RHS BETWEEN MALLAPUR AND CHERLAPALLY BPCL TERMINAL	MEDCHAL MALKAJGIRI	REGULAR	200	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
404	WITHIN 1.5 KM FROM KANDLAKOYA TO DEVARAYAMJAL VILLAGE ON LHS (SAI GEETHA ASHRAMAM ROAD)	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	CC	30	30	900	25	10	BIDDING	30	5
405	ABDULLAPURMET VILLAGE LIMITS, ON GHATKESAR ROAD	MEDCHAL MALKAJGIRI	REGULAR	230	OPEN	CC	30	30	900	25	10	BIDDING	30	5
406	ON LHS FROM KUKATPALLY TO NIZAMPET ROAD	MEDCHAL MALKAJGIRI	REGULAR	180	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
407	VANASTHALIPURAM, ON GANESH TEMPLE ROAD	RANGA REDDY	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
408	BOLLARAM TO KOWKOOR INCLUDING VILLAGE LIMITS	MEDCHAL MALKAJGIRI	REGULAR	220	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
409	ON DAIRY FARM ROAD CONNECTING MEDCHAL HIGHWAY	MEDCHAL MALKAJGIRI	REGULAR	180	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
410	WITHIN 5 KM RADIUS OF NEREDMET CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	160	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
411	BETWEEN BOWRAMPET KHAMAN AND BOWRAMPET VILLAGE LIMITS	MEDCHAL MALKAJGIRI	REGULAR	170	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
412	BETWEEN UPPAL BUS DEPOT AND CHENGICHERLA CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	200	SC	CFS	25	30	750	0	0	DRAW OF LOTS	0	3

413	JALPALLY VILLAGE, BALAPUR MANDAL	RANGA REDDY	REGULAR	167	OBC	DC	25	30	750	25	60	DRAW OF LOTS	15	4
413	GUMMADIDALA VILLAGE ON SH6	SANGAREDDY	REGULAR	160	OPEN CC 1	DC	40	40	1600	25	60	DRAW OF LOTS  DRAW OF LOTS	15	5
	WITHIN 2 KM FROM ABDULLAPURMET TOWARDS													
415	VIJAYAYAWADA NH-65 ON LHS	RANGA REDDY	REGULAR	210	OPEN	DC	40	40	1600	25	75	DRAW OF LOTS	15	5
416	FROM MAMIDIPALLY VILLAGE TO MAILARDEVPALLY (INNER RING CROSS ROAD) ON LHS	RANGA REDDY	REGULAR	125	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
417	FROM GADDIANNARAM CROSS ROAD TO SAROOR NAGAR LAKE ON SHIVGANGA ROAD	HYDERABAD	REGULAR	181	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
418	ON LHS FROM KAMINENI HOSPITAL TO NAGOLE	MEDCHAL MALKAJGIRI	REGULAR	190	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
419	HABSIGUDA CROSS ROAD TO NACHARAM CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	190	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
420	WITHIN 2.5 KM FROM INTERSECTION AT INNER RING ROAD TOWARDS BALAPUR (RCI ROAD), ON RHS	RANGA REDDY	REGULAR	153	SC	CFS	25	30	750	0	0	DRAW OF LOTS	0	3
421	FROM PVNR EXPRSSWAY PILLAR NO. LP61 TO KISHANBHAG ROAD CROSSING	HYDERABAD	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
422	FROM TSPA JUNCTION TO RAJENDRANAGAR CROSS ROADS, ON LHS	RANGA REDDY	REGULAR	167	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
423	FROM ONE TOWN POLICE STATION AND SVS DENTAL COLLEGE, MAHABUBNAGAR TOWN, ON LHS	MAHBUBNAGAR	REGULAR	140	OPEN CC 2	DC	20	20	400	25	45	DRAW OF LOTS	15	5
424	FROM KASIMPUR VILLAGE TO CHIRAGPALLY VILLAGE ON NH65 ON LHS	SANGAREDDY	REGULAR	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
425	AKKANNAPET VILLAGE, RAMAYAMPET MANDAL, ON SH-15	MEDAK	REGULAR	120	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
426	WITHIN 2 KMS FROM PRIME FORD SHOWROOM (ON NIZAMABAD TO DICHPALLY ROAD)	NIZAMABAD	REGULAR	150	OPEN	CC	30	30	900	25	10	BIDDING	30	5
427	WITHIN 1 KM RADIUS OF ARMOOR RTC BUS STAND	NIZAMABAD	REGULAR	130	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
428	WITHIN 1 KM RADIUS OF BANSWADA BUS STAND	KAMAREDDY	REGULAR	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
429	WITHIN 2 KMS FROM MAHESHWARI THEATRE, BANSWADA TOWARDS MADDELCHERVU	KAMAREDDY	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
430	WITHIN 1 KM RADIUS OF BODHAN BUS STAND	NIZAMABAD	REGULAR	120	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
431	WITHIN 1 KM RADIUS OF ASIAN PRIYA CINEPLEX , KAMAREDDY	KAMAREDDY	REGULAR	130	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
432	WITHIN 2 KMS OF NIZAMSAGAR CROSS ROADS ON NH161	KAMAREDDY	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
433	WITHIN YERRAPAHAD VILLAGE LIMITS ON SH-11	KAMAREDDY	REGULAR	100	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
434	WITHIN 4 KMS RADIUS OF NAVIPET BUS STAND	NIZAMABAD	REGULAR	120	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
435	WITHIN 2 KMS RADIUS OF YEDAPALLY BUS STAND	NIZAMABAD	REGULAR	110	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
436	MANIK BHANDAR VILLAGE LIMITS , MAAKLUR MANDAL ON NH- 63	NIZAMABAD	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
437	FROM KOLLUR TO TELLAPUR CROSS ROADS	SANGAREDDY	REGULAR	100	OPEN CC 1	DC	40	40	1600	25	45	DRAW OF LOTS	15	5
438	BETWEEN CHANDAPUR VILLAGE AND DOULATABAD VILLAGE ON SH17	SANGAREDDY	REGULAR	115	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
439	WITHIN 1KM RADIUS OF ARMOOR MUNICIPAL OFFICE	NIZAMABAD	REGULAR	130	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
440	WITHIN 4KM FROM BONGLOOR ORR CROSS ROAD TOWARDS HYDERABAD, ON SH19 (LHS)	RANGA REDDY	REGULAR	150	OPEN	DC	25	30	750	25	60	DRAW OF LOTS	15	5
441	WITH IN 2 KMS RADIUS OF PHULLONG CIRCLE	NIZAMABAD	REGULAR	120	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
442	FROM MUTHANGI CROSS ROADS TO SULTANPUR CROSS ROADS	SANGAREDDY	REGULAR	100	OBC	DC	40	40	1600	25	45	DRAW OF LOTS	15	4
443	WITHIN 1 KM RADIUS OF ARSANPALLY POST OFFICE	NIZAMABAD	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
444	FROM MADDIKUNTA VILLAGE TO SURARAM VILLAGE, SADASHIVPET MANDAL ON NH65, ON LHS	SANGAREDDY	REGULAR	160	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
445	BETWEEN AKBAR NAGAR AND VARNI (ON BODHAN - BHANSWADA ROAD)	NIZAMABAD	REGULAR	110	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
446	FROM ASHOK NAGAR TO RC PURAM ON NH65, ON RHS	SANGAREDDY	REGULAR	175	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
447	FROM KASANPALLE VILLAGE TO MUSLAPUR VILLAGE ON NH161, ON LHS	SANGAREDDY	REGULAR	165	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
		l .										1		

448	FROM MALLAPUR VILLAGE TO NADERGUL ROAD, BALAPUR MANDAL	RANGA REDDY	REGULAR	167	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
449	FROM PEDDA GOLKONDA CROSS ROADS TO TUKKUGUDA CROSS ROADS, ON LHS	RANGA REDDY	REGULAR	173	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
450	BETWEEN ANNASAGAR AND BHUTPOOR TOWN, ON LHS (NH-44) KURNOOL TO HYDERABAD	MAHBUBNAGAR	REGULAR	160	OBC PH	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
451	BETWEEN JUKKAL CROSS ROADS AND PITLAM ON NH-161	KAMAREDDY	REGULAR	150	ST PH	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
452	BETWEEN JAKRANPALLY CROSS ROADS AND DICHPALLY CROSS ROADS TOWARDS HYDERABAD ,ON LHS ON NH-44 (OLD NH-7)	NIZAMABAD	REGULAR	170	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
453	WITHIN 2 KMS FROM GALAXY GARDEN FUNCTION HALL ON KAMAREDDY TO RAMAREDDY	KAMAREDDY	REGULAR	120	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
	2 KM FROM ERRAVALLI CHOWRASTHA TOWARDS GADWAL	JOGULAMBA GADWAL	REGULAR	100	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
455	ADIBHATLA VILLAGE TO BONGLOOR CROSS ROADS	RANGA REDDY	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
456	FROM KOULAMPET VILLAGE TO KANDI VILLAGE ON NH65, ON RHS	SANGAREDDY	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
457	WITHIN 1 KM FROM NALGONDA CROSS ROADS TOWARDS CHANCHALGUDA JAIL, ON LHS	RANGA REDDY	REGULAR	178	OPEN	CC	25	30	750	25	10	BIDDING	30	5
458	KOTHUR VILLAGE ON SH14 (ZAHEERABAD - BIDAR ROAD), ON RHS	SANGAREDDY	REGULAR	100	OBC	DC	40	40	1600	25	60	DRAW OF LOTS	15	4
459	WITHIN 3 KMS FROM SAGAR RING CROSS ROADS (NEAR REGISTRATION OFFICE) TOWARDS KHARMANGHAT, ON LHS	RANGA REDDY	REGULAR	180	OPEN	CC	25	30	750	25	10	BIDDING	30	5
460	WITHIN 2KM FROM DEVARAKADRA BUS STAND TOWARDS MAHABUBNAGAR ON NH-167	MAHBUBNAGAR	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	LINGAMPALLI VILLAGE,MUNIPALLY MANDAL (HYDERABAD - MUMBAI ROAD,NH65), ON RHS	SANGAREDDY	REGULAR	207	OBC	CC	45	45	2025	25	10	BIDDING	30	4
462	FROM CHOUTKUR VILLAGE TO POSANIPALLY VILLAGE ON NH161, ON RHS	SANGAREDDY	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
463	WITHIN 3 KM FROM ONE TOWN POLICE STATION CHOWRASTHA TOWARDS BHOOTPUR,MAHABUBNAGAR.	MAHBUBNAGAR	REGULAR	140	OPEN CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
464	BETWEEN 84 TO 86 KM STONE FROM JADCHERLA TO BHOOTPUR, ON RHS (NH-44),	MAHBUBNAGAR	REGULAR	160	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
465	WITHIN 2 KM FROM MARIKAL CROSS ROAD TOWARDS MAHABUBNAGAR ON NH-167, MARIKAL	MAHBUBNAGAR	REGULAR	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
466	Sondepur Village to Gadisingapur Village on SH 4 (Parigi - Kodangal Road)	VIKARABAD	REGULAR	105	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
467	FROM TELLAPUR CROSS ROAD TO MUTHANGI CROSS ROAD, ON RHS	SANGAREDDY	REGULAR	100	OPEN	DC	40	40	1600	25	45	DRAW OF LOTS	15	5
		SANGAREDDY	REGULAR	250	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
469	FROM NEW BUS STAND TOWARDS KOTHAKOTA, WANAPARTHY TOWN MUNICIPAL LIMITS	WANAPARTHY	REGULAR	130	ST	CFS	18	18	324	0	0	DRAW OF LOTS	0	3
470	FROM KOKAPET TO OCEAN PARK (HYDERABAD - SHANKARPALLY ROAD)	RANGA REDDY	REGULAR	200	OPEN	CC	30	30	900	25	10	BIDDING	30	5
471	BETWEEN KODANGAL VILLAGE AND THIRUMALAPUR VILLAGE ON SH-4	VIKARABAD	REGULAR	125	OPEN	DC	40	40	1600	25	60	DRAW OF LOTS	15	5
472	BETWEEN EDULANAGULAPALLE AND KOLLUR, RAMACHANDRAPURAM MANDAL	SANGAREDDY	REGULAR	145	OPEN	CC	40	40	1600	25	10	BIDDING	30	5
473	GOPALPET VILLAGE, WANAPARTHY TO BIJINEPALLY ROAD	WANAPARTHY	REGULAR	100	OBC CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	4
474	MAGANOOR VILLAGE ON NH-167,MAGANOOR MANDAL	MAHBUBNAGAR	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3

475	WITHIN 6 KM FROM YERRAPAHAD GRAMPANCHAYAT OFFICE, ON SH-11, TOWARDS KAMAREDDY	KAMAREDDY	REGULAR	100	OPEN PH	DC	30	30	900	25	60	DRAW OF LOTS	15	5
476	WITHIN 3 KM FROM SHAKAPUR CHOWRASTHA,KURNOOL TO HYDERABAD, ON LHS (NH-44)	MAHBUBNAGAR	REGULAR	160	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
477	KOLLAPUR TOWN MUNICIPALITY LIMITS	NAGARKURNOOL	REGULAR	150	OPEN	DC	25	25	625	25	75	DRAW OF LOTS	15	5
478	DOMALAPENTA VILLAGE ON SRISAILAM ROAD NH-765	NAGARKURNOOL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
479	RHS OF NEW SADASHIVPET BYPASS ON NH65(HYDERABAD TO MUMBAI ROAD)	SANGAREDDY	REGULAR	195	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
480	PEBBAIR TOWN MUNICIPALITY LIMITS, NOT ON NH-44	WANAPARTHY	REGULAR	150	OBC	DC	25	25	625	25	75	DRAW OF LOTS	15	4
481	FROM RAMACHANDRAPURAM TO PATANCHERU ON NH65, ON LHS	SANGAREDDY	REGULAR	200	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
482	WITHIN 2 KMS FROM GOVERNMENT JUNIOR COLLEGE FOR BOYS, ARMOOR (ON ARMOOR - PIPRI ROAD) TOWARDS PIPRI	NIZAMABAD	RURAL	80	OPEN	CC	30	30	900	12	5	BIDDING	10	4
483	WITHIN 2 KMS FROM SBI POTHANGAL, KOTAGIRI MANDAL (ON POTHANGAL TO SANGVI UMAR ROAD)	NIZAMABAD	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
484	GOVINDPET VILLAGE , ARMOOR MANDAL	NIZAMABAD	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
485	WITHIN 4 KMS FROM SRM GARDENS,BIBIPET VILLAGE, (ON ROAD TOWARDS BHUMAPALLY)	KAMAREDDY	RURAL	80	OPEN	CC	30	30	900	12	5	BIDDING	10	4
486	WITHIN 3 KMS FROM NDCC BANK, SIRIKONDA ON ROAD TOWARDS VATTIMALLA	NIZAMABAD	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
487	BETWEEN YANAMPALLE VILLAGE AND RAMADUGU VILLAGE	NIZAMABAD	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
488	YERGATLA VILLAGE, YERGATLA MANDAL	NIZAMABAD	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
489	WITHIN 2 KMS FROM BABAPOOR GRAMPANCHAYAT OFFICE, BHEEMGAL (ON KAMARPALLY ROAD)	NIZAMABAD	RURAL	90	OPEN	CC	30	30	900	12	5	BIDDING	10	4
490	WITHIN 2 KMS FROM GUNDARAM CROSS ROADS ( ON SARANGAPUR TO JANNEPALLY ROAD)	NIZAMABAD	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
491	KANDUKUR GATE TO KANDUKUR VILLAGE,	RANGA REDDY	RURAL	62	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
492	MANSANPALLY CROSS ROADS TO MAHESHWARAM VILLAGE, MAHESWARAM MANDAL	RANGA REDDY	RURAL	63	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
493	YACHARAM VILLAGE TO MIRKHANPET VILLAGE	RANGA REDDY	RURAL	68	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
494	BETWEEN MELASANGAM VILLAGE AND TATIPALLY VILLAGE,MUNIPALLY MANDAL	SANGAREDDY	RURAL	60	OBC	CC	35	35	1225	12	5	BIDDING	10	3
495	ELIMINEDU VILLAGE, IBRAHIMPATNAM MANDAL	RANGA REDDY	RURAL	78	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
496	FROM SAGAR ROAD CROSS ROADS TO ORR CROSS ROAD VIA JAGRUTI INSTITUTE OF ENGINEERING & TECHNOLOGY	RANGA REDDY	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
497	BETWEEN CHAPTA(B) VILLAGE AND JAMGIKHURD VILLAGE ON KANGTI TO PITLAM ROAD	SANGAREDDY	RURAL	60	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
498	BETWEEN YERRAVALLY VILLAGE AND KOJJAVANAMPALLE VILLAGE ON VIKARABAD TO MOMINPET ROAD	VIKARABAD	RURAL	60	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
499	BETWEEN MOMINPET VILLAGE AND MORANGAPALLE VILLAGE ON SADASHIVPET TO TANDUR ROAD	VIKARABAD	RURAL	110	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
500	FROM KASHIPUR VILLAGE TO JULKAL VILLAGE ROAD,KANDI MANDAL, ON RHS	SANGAREDDY	RURAL	60	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
501	BANTWARAM VILLAGE,BANTWARAM MANDAL	VIKARABAD	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
502	DHOBIPET VILLAGE (ON SHANKARPALLY - MEHTABKHANGUDEM ROAD)	RANGA REDDY	RURAL	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
503	BETWEEN THANGADPALLY AND PEERAMPALLI ON CHILKUR TO VIKARABAD ROAD	VIKARABAD	RURAL	61	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
504	FROM GOLLAPALLY TO YENKAPALLY ON CHEVELLA TO SHANKARPALLY ROAD,ON RHS	RANGA REDDY	RURAL	80	OPEN CC 2	DC	40	40	1600	12	30	DRAW OF LOTS	5	4

505	BETWEEN ISNAPUR AND EDDUMAILARAM ON ISNAPUR TO INDIRA KARAN ROAD	SANGAREDDY	RURAL	100	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
506	GHATTU VILLAGE LIMITS, GHATTU MANDAL	JOGULAMBA GADWAL	RURAL	80	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
507	BETWEEN GUMMADIDALA VILLAGE AND KANUKUNTA VILLAGE,GUMMADIDALA MANDAL	SANGAREDDY	RURAL	85	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
508	GANDIPET VILLAGE,GANDIPET MANDAL	RANGA REDDY	RURAL	110	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
509	BETWEEN MANSAMPALLE VILLAGE AND DHARUR VILLAGE ON VIKARABAD TO TANDUR ROAD	VIKARABAD	RURAL	60	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
510	Bomraspet Village,Bomraspet Mandal	VIKARABAD	RURAL	60	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
511	MOKILA VILLAGE,SHANKARPALLY MANDAL (ON HYDERABAD - SHANKARPALLY ROAD),ON RHS	RANGA REDDY	RURAL	140	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
512	FROM GOWTHAPUR VILLAGE TO KARANKOTE VILLAGE,ON RHS	VIKARABAD	RURAL	105	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
513	BETWEEN INOLE VILLAGE,PATANCHERU MANDAL AND CHINTALACHERU VILLAGE,HATHNOORA MANDAL	SANGAREDDY	RURAL	90	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
514	JANWADA VILLAGE,SHANKARPALLY MANDAL(HYDERABAD - SHANKARPALLY ROAD),ON LHS	RANGA REDDY	RURAL	120	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
515	NANDIGAMA VILLAGE,PATANCHERU MANDAL (ON PATANCHERU - SHANKARPALLY ROAD)	SANGAREDDY	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
	BETWEEN HIMAYATNAGAR VILLAGE AND CHILKUR VILLAGE	RANGA REDDY	RURAL	120	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
517	BETWEEN BEJJANKI VILLAGE & BEJJANKI CROSS ROADS.	SIDDIPET	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
518	PALVANCHA, TEKMAL MANDAL	MEDAK	RURAL	80	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
519	WITHIN 2 KM FROM METTU STAGE TOWARDS THOGUTTA VILLAGE ON RHS, BANDARUPALLE GRAMPANCHAYAT	SIDDIPET	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
520	MITTAPALLY VILLAGE (ON SIDDIPET-HUSNABAD ROAD)	SIDDIPET	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
521	BETWEEN ANKIREDDYPALLE VILLAGE TO CHETLA NARSANPALLY VILLAGE.	SIDDIPET	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
522	FROM SHANKARAMPET VILLAGE TO GAVALAPALLY VILLAGE	MEDAK	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
523	DOULATABAD VILLAGE (DOULATABAD MANDAL)	SIDDIPET	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
524	FROM POSANPALLY VILLAGE TO KONDAPOCHAMMA TEMPLE(TEEGUL NARSAPUR VILLAGE)	SIDDIPET	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
525	RAGHAVAPUR VILLAGE, SIDDIPET RURAL MANDAL	SIDDIPET	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
526	NEMTOOR VILLAGE, WARGAL MANDAL	SIDDIPET	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
527	PALAMAKULA VILLAGE (ON SIDDIPET-HUSNABAD ROAD)	SIDDIPET	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
528	FROM CHINNAKODURU VILLAGE TO PEDDAKODURU VILLAGE (CHINNAKODURU MANDAL)	SIDDIPET	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
529	Markook Village, Markook Mandal	SIDDIPET	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
530	DABILPUR VILLAGE(ON YELLAMPET - BONTHAPALLE ROAD)	MEDAK	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
531	Gouravelli Village ,akkannapet mandal	SIDDIPET	RURAL	80	OBC PH	DC	30	30	900	12	30	DRAW OF LOTS	5	3
532	UPPERU VILLAGE, DHAROOR MANDAL	JOGULAMBA GADWAL	RURAL	60	ST PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
533	KODAIR VILLAGE LIMITS, KODAIR MANDAL	NAGARKURNOOL	RURAL	85	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
534	KUMMERA VILLAGE LIMITS,NAGARKURNOOL MANDAL	NAGARKURNOOL	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
535	UPPUNUNTHALA VILLAGE LIMITS, UPPUNUNTHALA MANDAL	NAGARKURNOOL	RURAL	85	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
536	ON RHS FROM ALAMPUR CROSS ROAD FLYOVER AND RDS CANAL TOWARDS ALAMPUR	JOGULAMBA GADWAL	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
537	PADARA VILLAGE LIMITS, PADARA MANDAL	NAGARKURNOOL	RURAL	90	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
538	ALWAPAD VILLAGE, DHAROOR MANDAL	Jogulamba gadwal	RURAL	85	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
539	GUNDUMAL VILLAGE,KOSGI MANDAL	MAHBUBNAGAR	RURAL	75	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
540	THIMMAJIPET VILLAGE LIMITS NOT ON SH 21, THIMMAJIPET MANDAL	NAGARKURNOOL	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4

541	TADOOR VILLAGE ON KALWAKURTHY TO NAGARKURNOOL,TADOOR MANDAL	NAGARKURNOOL	RURAL	85	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
542	ON RHS WITHIN 1KM FROM D BURDIPADU CROSS TOWARDS ALAMPUR,UNDAVELLI MANDAL	JOGULAMBA GADWAL	RURAL	60	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
543	CHENNARAM VILLAGE LIMITS,ON YEDUTLA TO YEDULA ROAD	WANAPARTHY	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
544	BONKUR VILLAGE LIMITS ON RAICHUR- KURNOOL ROAD,UNDAVELLI MANDAL	JOGULAMBA GADWAL	RURAL	85	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
545	PADKAL VILLAGE LIMITS (ON PADKAL TO KALIGOTE ROAD)	NIZAMABAD	RURAL	110	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
546	WITHIN PADGAL VILLAGE LIMITS , ARMOOR MANDAL	NIZAMABAD	RURAL	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
547	Donkeshwar Village, nandipet mandal	NIZAMABAD	RURAL	110	OPEN	CC	30	30	900	12	5	BIDDING	10	4
548	YELWARTHY VILLAGE ON SHANKARPALLY TO CHEVELLA ROAD	RANGA REDDY	RURAL	70	OPEN	CC	30	30	900	12	5	BIDDING	10	4
549	BETWEEN BHOGARAM VILLAGE TO KONDAPUR VILLAGE - ON GHATKESAR TO KEESARA ROAD	MEDCHAL MALKAJGIRI	RURAL	100	OBC	CC	40	40	1600	12	5	BIDDING	10	3
550	KOMURAVELLI VILLAGE,KOMURAVELLI MANDAL (ON THIMMAREDDY PALLY -CHERIAL ROAD)	SIDDIPET	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
551	ALIABAD, SHAMIRPET MANDAL	MEDCHAL MALKAJGIRI	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
552	MIRDODDI VILLAGE,MIRDODDI MANDAL	SIDDIPET	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
553	CHANDAPUR VILLAGE,SHANKARAMPET (R) MANDAL	MEDAK	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
554	JAGGAMPET VILLAGE,CHILIPCHED MANDAL	MEDAK	RURAL	80	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
555	KHAJAPUR VILLAGE,SHANKARAMPET (R) MANDAL	MEDAK	RURAL	80	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
556	MAKTA BOOPATHIPUR VILLAGE, MEDAK MANDAL	MEDAK	RURAL	80	OPEN PH	DC	30	30	900	12	30	DRAW OF LOTS	5	4
557	SIRPUR VILLAGE , MADNOOR MANDAL (NOT ON NH-161)	KAMAREDDY	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
558	CHANDUR VILLAGE LIMITS (ON NIZAMBAD TO VARNI ROAD)	NIZAMABAD	RURAL	110	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
559	GANDHARI VILLAGE, GANDHARI MANDAL	KAMAREDDY	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
560	CHINNAMALLAREDDY VILLAGE, KAMAREDDY MANDAL	KAMAREDDY	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
561	FROM VELPOOR CROSS ROADS ON NH-63 TO VELPOOR VILLAGE, NOT ON NH-63	NIZAMABAD	RURAL	90	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
562	WITHIN 2 KMS ON EITHER SIDE FROM THE JUNCTION OF BASWAPUR-EKLASPUR ROAD(ON BIRKUR-KALLUR ROAD)	KAMAREDDY	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
563	ON ROAD CONNECTING NANDIPET AND NAVIPET VILLAGES	NIZAMABAD	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
564	PERKIT VILLAGE, ARMOOR MANDAL	NIZAMABAD	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
565	MUTHYAMPET VILLAGE, DOMAKONDA MANDAL	KAMAREDDY	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
566	CHINTAREVULA VILLAGE, DHAROOR MANDAL	JOGULAMBA GADWAL	RURAL	60	OPEN	CC	30	30	900	12	5	BIDDING	10	4
567	DAMARAGIDDA VILLAGE AND MANDAL ON NARAYANPET ROAD	MAHBUBNAGAR	RURAL	60	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
	BETWEEN MALLEPALLY VILLAGE AND MURDANPALLY VILLAGE	SANGAREDDY	RURAL	60	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
569	RYAKAL VILLAGE,NARAYANKHED MANDAL	SANGAREDDY	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
570	BETWEEN WASAR VILLAGE AND ADAMPUR VILLAGE	SANGAREDDY	RURAL	65	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
571	KALHER VILLAGE,KALHER MANDAL (ON MASANPALLE ROAD)	SANGAREDDY	RURAL	65	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
572	BETWEEN MAVINELLI VILLAGE AND KARSGUTTI VILLAGE	SANGAREDDY	RURAL	80	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
573	BELLAPUR VILLAGE,MANOOR MANDAL (ON BELLAPUR VILLAGE - MANOOR VILLAGE ROAD)	SANGAREDDY	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
574	MIRZAGUDA VILLAGE,SHANKARPALLY MANDAL (ON HYDERABAD - SHANKARPALLY ROAD)	RANGA REDDY	RURAL	90	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
575	KONDAPUR VILLAGE,KONDAPUR MANDAL	SANGAREDDY	RURAL	75	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
576	NIZAMPUR VILLAGE,SADASHIVPET MANDAL	SANGAREDDY	RURAL	65	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
577	ATMAKUR VILLAGE,SADASHIVPET MANDAL	SANGAREDDY	RURAL	55	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

578	BETWEEN PEDDAKANJERLA VILLAGE AND ARUTLA VILLAGE	SANGAREDDY	RURAL	75	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
579	BETWEEN NAGULAPALLI VILLAGE AND PATIGHANPUR VILLAGE	SANGAREDDY	RURAL	100	OPEN	DC	40	40	1600	12	30	DRAW OF LOTS	5	4
580	MUNIPALLY VILLAGE,MUNIPALLY MANDAL (ON MUNIPALLI TO KAVAMPALLI ROAD)	SANGAREDDY	RURAL	65	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
581	DAKOOR VILLAGE,ANDOLE MANDAL(ON JOGIPET ROAD)	SANGAREDDY	RURAL	55	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
582	YELGOI VILLAGE,JHARASANGAM MANDAL	SANGAREDDY	RURAL	65	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
583	BILALPUR VILLAGE,KOHIR MANDAL	SANGAREDDY	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
584	SINGITHAM VILLAGE,RAIKHODE MANDAL	SANGAREDDY	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
585	BETWEEN MEDIPALLY AND REDDYPALLI (CHILKUR - YENKAPALLY ROAD)	RANGA REDDY	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
586	MADGUL CHITTEMPALLE VILLAGE (ON VIKARABAD - PARIGI ROAD)	VIKARABAD	RURAL	90	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
587	NAWABPET VILLAGE ON SHANKARPALLY TO VIKARABAD ROAD	VIKARABAD	RURAL	85	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
588	PUDUR VILLAGE,PUDUR MANDAL	VIKARABAD	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
589	YELAL VILLAGE, YELAL MANDAL	VIKARABAD	RURAL	60	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
590	BASHEERABAD VILLAGE,BASHEERABAD MANDAL	VIKARABAD	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
591	PEDDEMUL VILLAGE, PEDDAMUL MANDAL	VIKARABAD	RURAL	60	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
592	KOTHUR GATE TO MUCHERLA VILLAGE	RANGA REDDY	RURAL	68	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
593	AMEERPET VILLAGE TO PEDDATUPRA VILLAGE	RANGA REDDY	RURAL	51	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
594	SANTHAPUR VILLAGE TO MAKTHA MADHARAM VILLAGE	RANGA REDDY	RURAL	78	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
595	PENTLAVALLY VILLAGE ON KOLLAPUR ROAD,PENTLAVALLY MANDAL	NAGARKURNOOL	RURAL	85	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
596	BUTTERFLY CITY MAIN ROAD, KADTHAL MANDAL	RANGA REDDY	RURAL	62	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
597	KOTHAPETA VILLAGE, KESHAMPET MANDAL	RANGA REDDY	RURAL	67	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
598	ARKAPALLY VILLAGE, MADGUL MANDAL	RANGA REDDY	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
599	BIJJAWARAM VILLAGE, MALDAKAL MANDAL	JOGULAMBA GADWAL	RURAL	60	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
600	MANKHAL VILLAGE, MAHESHWARAM MANDAL	RANGA REDDY	RURAL	72	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
601	THONDAPALLI VILLAGE (NOT ON NH), SHAMSHABAD MANDAL	RANGA REDDY	RURAL	67	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
602	MUCHERLA VILLAGE TO KURMIDDA VILLAGE, KANDUKUR MANDAL	RANGA REDDY	RURAL	88	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
603	FROM PALAMAKULA CROSS ROAD AT NH44 TO PEDDA GOLKONDA ROAD CROSS ROADS	RANGA REDDY	RURAL	66	OPEN	CC	30	30	900	12	5	BIDDING	10	4
604	RAIPOLE VILLAGE, IBRAHIMPATNAM MANDAL	RANGA REDDY	RURAL	84	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
/05	FROM THONDAPALLI CROSS ROAD AT NH44 TO CHINNA	DANCA DEDDY	DLIDAL	/0	ODEN CC 2	DC	20	20	000	10	20	DDAW OF LOTC	_	4
605	GOLKONDA CROSS ROADS, SHAMSHABAD MANDAL	RANGA REDDY	RURAL	69	OPEN CC 2	DC	30	30	900	12	30	DRAW OF LOTS	5	4
606	TALAKONDAPALLY VILLAGE, TALAKONDAPALLY MANDAL	RANGA REDDY	RURAL	84	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
607	KADTHAL VILLAGE TO MUCHERLA VILLAGE	RANGA REDDY	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
608	REMODDUULA VILLAGE LIMITS, PANAGAL MANDAL	WANAPARTHY	RURAL	60	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
609	MADGUL VILLAGE, MADGUL MANDAL	RANGA REDDY	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
610	SRIPURAM VILLAGE NAGARKURNOOL MANDAL	NAGARKURNOOL	RURAL	80	OPEN	CC	25	25	625	12	5	BIDDING	10	4
611	WITHIN 1.5KM FROM JIMS HOSPITAL TOWARDS PEDDAGOLKONDA, ON RHS	RANGA REDDY	RURAL	70	OPEN	CC	30	30	900	12	5	BIDDING	10	4
612	CHATTANPALLY VILLAGE TO SANGYAM VILLAGE	RANGA REDDY	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
613	REVALLY VILLAGE LIMITS, REVALLY MANDAL	WANAPARTHY	RURAL	60	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
614	WITHIN 1.5KM FROM INTERSECTION AT PALAMAKULA- PEDDAGOLKONDA ROAD TOWARDS GOLLUR, ON LHS	RANGA REDDY	RURAL	71	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
615	WITHIN 1 KM FROM SHADNAGAR BUS STAND TOWARDS HAJIPALLI, ON RHS	RANGA REDDY	RURAL	60	OPEN	DC	25	35	875	12	30	DRAW OF LOTS	5	4
616	FROM PEDDA GOLKONDA CROSS ROADS TO MANSANPALLY CROSS ROADS	RANGA REDDY	RURAL	69	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3

	EDOMANANI E CHETTH CHOM/DACTA (HIICMADAD VIII ACE) TO	1	1				1	1						1
617	FROM MALLE CHETTU CHOWRASTA (HUSNABAD VILLAGE) TO POTARAM VILLAGE	SIDDIPET	RURAL	130	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
618	FROM KARKAPATLA VILLAGE TO DHAMARKUNTA VILLAGE,MARKOOK MANDAL	SIDDIPET	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
619	ALLIPUR VILLAGE,SIVAMPET MANDAL	MEDAK	RURAL	80	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
620	KOHEDA VILLAGE,KOHEDA MANDAL	SIDDIPET	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
621	SHANKARAMPET (A) VILLAGE,SHANKARAMPET MANDAL	MEDAK	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
	BETWEEN RANGAMPET VILLAGE AND CHANDOOR VILLAGE	MEDAK	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
623	BETWEEN DANDUPALLY VILLAGE AND RANGAIPALLY VILLAGE,MANOHARABAD MANDAL (NOT ON NH44)	MEDAK	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
624	FROM KULCHARAM VILLAGE TO AMSANPALLE VILLAGE,KULCHARAM MANDAL	MEDAK	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
625	WITHIN 3KM FROM MALLECHETTU CHOWRASTA(HUSNABAD VILLAGE) TOWARDS GOURAVELLI VILLAGE	SIDDIPET	RURAL	130	OPEN	CC	30	30	900	12	5	BIDDING	10	4
626	BETWEEN JAFFARPALLI VILLAGE AND SYEDPALLY VILLAGE (ON PARIGI - SHADNAGAR ROAD)	VIKARABAD	RURAL	60	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
627	SRIRANGAPUR VILLAGE ON PARIGI TO SHADNAGAR ROAD	RANGA REDDY	RURAL	110	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
628	WITHIN 3 KM FROM INTERSECTION OF NH-9 AT TOOPRANPET TOWARDS IBRAHIMPATNAM	RANGA REDDY	RURAL	90	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
629	MACHA BOLLARAM 0.75 KM FROM SELECT THEATRE LHS ON MACHA BOLLARAM ROAD (NEAR MUNICIPAL WARD OFFICE)	MEDCHAL MALKAJGIRI	REGULAR	175	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
630	INTERSECTION AT NH44 TO SANGYAM VILLAGE, VIA J P DARGAH	RANGA REDDY	RURAL	169	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
631	KANDUKUR VILLAGE TO MIRKHANPET VILLAGE, KANDUKUR MANDAL	RANGA REDDY	RURAL	168	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
632	WITHIN 1KM FROM L B NAGAR CROSS ROADS TO SAGAR RING ROAD ON LHS	RANGA REDDY	REGULAR	200	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
633	2 KMS FROM WANAPARTHY GANDHI CHOWK TOWARDS CHITYALA ROAD	WANAPARTHY	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
634	ON LHS, NH-44 WITHIN 2 KM FROM BALANAGAR CHOWRASTHA TOWARDS HYDERABAD	MAHBUBNAGAR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
635	WITHIN 3KM FROM CLOCK TOWER ON NAWABPET ROAD,MAHABUBNAGAR	MAHBUBNAGAR	REGULAR	120	ST	CFS	18	18	324	0	0	DRAW OF LOTS	0	3
636	ON RHS-SH15 FROM IRKODE VILLAGE TO TORNALA VILLAGE.	SIDDIPET	REGULAR	120	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
637	TUNIKI VILLAGE TO KOWDIPALLY VILLAGE,KOWDIPALLY MANDAL ON SH6	MEDAK	REGULAR	120	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
638	CHILVER TO ALLDURGA ROAD ON NH161	MEDAK	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
639	BETWEEN NARAYANKHED RAJIV GANDHI STATUE AND ABBENDA VILLAGE,NARAYANKHED MANDAL	SANGAREDDY	REGULAR	165	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
640	BETWEEN PALPANOOR AND BORPATLA ON SH17	SANGAREDDY	REGULAR	100	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
641	TANDUR TOWN MUNICIPAL LIMITS	VIKARABAD	REGULAR	190	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
642	VIKARABAD TOWN MUNICIPAL LIMITS	VIKARABAD	REGULAR	200	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
643	FROM JNTU COLLEGE TO POSANIPALLY VILLAGE ON NH161,ON RHS	SANGAREDDY	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
644	FROM KANSAMPALLY VILLAGE TO MUSLAPUR VILLAGE ON NH161,ON RHS	SANGAREDDY	REGULAR	155	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
645	VEEPANAGANDLA VILLAGE LIMITS, VEEPANAGANDLA MANDAL	WANAPARTHY	RURAL	75	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
646	TIRUMALGIRI TO BOWENPALLY	HYDERABAD	REGULAR	200	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3

647	KOTHUR TO PENJERLA ROAD, KOTHUR MANDAL	RANGA REDDY	RURAL	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
	MANSANPALLY CROSS ROADS TO KOLLAPADAKAL VILLAGE.		_											
648	MAHESHWARAM MANDAL	RANGA REDDY	RURAL	190	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
649	FROM UPPARPALLI TO HASSAN NAGAR	RANGA REDDY	REGULAR	200	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
650	FROM ALKAPURI TO PUPPALGUDA, ON NEKRAMPUR ROAD, ON LHS	RANGA REDDY	REGULAR	230	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
651	WITHIN 2 KM FROM AMRABAD CHOWRASTHA TOWARDS AMRABAD NOT ON NH-765,MANNANUR VILLAGE	NAGARKURNOOL	RURAL	130	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
652	NAMAVARAM VILLAGE, MOTHE MANDAL(FROM NAMAVARAM VILLAGE UPTO NH 65)	SURYAPET	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
653	GANNERUVARAM VILLAGE AND MANDAL, ON MAIN ROAD	KARIMNAGAR	RURAL	80	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
654	MAHESWARAM VILLAGE, ON NARSAMPETA - WARANGAL ROAD	WARANGAL RURAL	RURAL	80	OBC PH	CC	30	30	900	12	5	BIDDING	10	3
655	MOTAKONDURU VILLAGE ,ON ALER ROAD, MOTAKONDUR MANDAL	YADADRI BHUVANAGIRI	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
656	RAGADAPA VILLAGE ON MAINROAD, TRIPURARAM MANDAL	NALGONDA	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
657	SUNKIDI VILLAGE LIMITS ON MAIN ROAD	ADILABAD	RURAL	140	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
658	TIRYANI VILLAGE & MANDAL ON MAIN ROAD	KOMARAM BHEEM ASIFABAD	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
659	KOLENUPAKA VILLAGE ON ALAIR ROAD, ALAIR MANDAL	YADADRI BHUVANAGIRI	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
660	THEEGARAJUPALLE(ON GAVICHARLA ROAD)	WARANGAL RURAL	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
661	DASTURABAD VILLAGE AND MANDAL ON MAIN ROAD	NIRMAL	RURAL	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
662	RAMPURE VILLAGE (BHUPALAPALLI MANDAL) ON KAMALAPUR TO AZAMNAGAR ROAD	JAYASHANKAR BHUPALPALLY	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
663	Ponegode Village, imampet to garidepalli road, Garidepalli mandal	SURYAPET	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
664	BOMMALARAAMARAM VILLAGE ON BHONGIR ROAD, BOMMALARAMAM MANDAL	YADADRI BHUVANAGIRI	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
665	RAGHAVAPURAM VILLAGE ON BIBINAGAR ROAD, BIBINAGAR MANDAL	YADADRI BHUVANAGIRI	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
666	TANUR VILLAGE AND MANDAL ON MAIN ROAD	NIRMAL	RURAL	120	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
667	ELKATURTHY VILLAGE LIMITS TOWARDS SIDDIPET ROAD	WARANGAL URBAN	RURAL	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
668	JANGAPALLI VILLAGE IN GANNERUVARAM MANDAL ON MAIN ROAD	KARIMNAGAR	RURAL	80	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
669	MUTHAMPET VILLAGE LIMITS 2 KM FROM KOMMUGUDA X ROAD	KOMARAM BHEEM ASIFABAD	RURAL	120	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
670	YELLANKI VILLAGE ON MAINROAD, RAMANNAPETA MANDAL	YADADRI BHUVANAGIRI	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
671	ATHMAKUR(M) VILLAGE ON MOTHKUR -BHONGIR ROAD	YADADRI BHUVANAGIRI	RURAL	105	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
672	AITIPAMULA VILLAGE ON MAINROAD, KATTANGUR MANDAL	NALGONDA	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
673	GORENTLA VILLAGE ,FROM MADDIRAL X ROADS TOWARDS MADDIRALA VILLAGE	SURYAPET	RURAL	105	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
674	HUZURNAGAR VILLAGE, ON HUZURNAGAR MELLACHERUVU ROAD	SURYAPET	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
675	AKUPAMULA VILLAGE ON KODAD ROAD, MUNAGALA MANDAL	SURYAPET	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
676	GHANPUR (MULUGU) TO PALAMPETA	JAYASHANKAR BHUPALPALLY	RURAL	70	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
677	MOTHUKURAOPET VILLAGE ON MAIN ROAD, MEDIPALLI MANDAL	JAGITIAL	RURAL	60	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
678	SIRIKONDA VILLAGE ON MOTHE ROAD, MOTHE MANDAL	SURYAPET	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
679	GARSEKURTHI VILLAGE ON MAIN ROAD, GANGADHARA MANDAL	KARIMNAGAR	RURAL	70	OPEN PH	DC	30	30	900	12	30	DRAW OF LOTS	5	4

680	AILAPUR VILLAGE (KORUTLA MANDAL), ON MAIN ROAD	JAGITIAL	RURAL	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
681	THANDRIAL VILLAGE ON MAIN ROAD(KATHLAPURE MANDAL)	JAGITIAL	RURAL	120	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
682	BAVSAIPET VILLAGE (KONARAOPET MANDAL), ON BAVSAIPET TO MAMIDIPALLI ROAD	RAJANNA SIRCILLA	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
683	PORMALLA VILLAGE ON MAIN ROAD, MEDIPALLI MANDAL	JAGITIAL	RURAL	90	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
684	TUNGATURTHI VILLAGE ,1 KM FROM TAHSILDAR OFFICE TOWARDS VEMPATI ROAD	SURYAPET	RURAL	85	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
685	REGADIMADDIKUNTA VILLAGE IN SULTANBAD MANDAL, ON KOLANOOR ROAD	PEDDAPALLI	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
686	RAGHAVAPET VILLAGE ON MAIN ROAD( MALLAPUR MANDAL)	JAGITIAL	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
687	KONARAOPET VILLAGE (KONARAOPET MANDAL)ON SIRICILLA ROAD	RAJANNA SIRCILLA	RURAL	130	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
688	VAVILALA VILLAGE(NELLIKUDURU MANDAL) ON MAHABUBABAD TO NELLIKUDURU ROAD	MAHABUBABAD	RURAL	60	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
689	FROM TAHSILDAR OFFICE TOWARDS POCHAMPALLE WITH IN 1 KM , POCHMAPALLE MANDAL	YADADRI BHUVANAGIRI	RURAL	105	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
690	NITTUR VILLAGE IN PEDDAPALLI MANDAL, ON NITTUR TO NIMMANAPALLE ROAD	PEDDAPALLI	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
691	SANGEM VILLAGE ON MAIN ROAD, VALIGONDA MANDAL	YADADRI BHUVANAGIRI	RURAL	100	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
692	AMEENABAD VILLAGE ON NEKKONDA TO NARSAMPETA ROAD	WARANGAL RURAL	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
693	JERRIPOTHULAGUDEM VILLAGE , ON KOMMUBANDA TANDA MAIN ROAD, CHILKUR MANDAL	SURYAPET	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
694	THADICHERLA VILLAGE IN MALHARRAO MANDAL	JAYASHANKAR BHUPALPALLY	RURAL	100	OPEN	CC	30	30	900	12	5	BIDDING	10	4
405	THIRUMALAGIRI VILLAGE, FROM BUSSTOP TOWARDS MARKET													
695	YARD ,THIRUMALAGIRI SAGAR MANDAL	NALGONDA	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
696	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD	NALGONDA JAGITIAL	RURAL	80 80	OBC OPEN	DC DC	30 30	30 30	900 900	12 12	30 30	DRAW OF LOTS  DRAW OF LOTS	5 5	3
	YARD , THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL , ON JAGITIAL TO DHARMARAM ROAD													
696	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL , ON JAGITIAL TO DHARMARAM ROAD CHERUKUPALLE VILLAGE ON TUNGATURTHY ROAD,KETHEPALLI MANDAL	JAGITIAL	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
696 697 698	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL, ON JAGITIAL TO DHARMARAM ROAD CHERUKUPALLE VILLAGE ON TUNGATURTHY ROAD,KETHEPALLI MANDAL MULANGUR VILLAGE IN SHANKARAPATNAM MANDAL ON MAIN ROAD	JAGITIAL JAGITIAL	RURAL	80	OPEN OPEN	DC DC	30	30	900	12	30	DRAW OF LOTS  DRAW OF LOTS	5	4
696 697 698	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL , ON JAGITIAL TO DHARMARAM ROAD CHERUKUPALLE VILLAGE ON TUNGATURTHY ROAD,KETHEPALLI MANDAL MULANGUR VILLAGE IN SHANKARAPATNAM MANDAL ON MAIN ROAD ANNARAM SHARIF VILLAGE(PARVATHAGIRI MANDAL) ON TORRURU ROAD	JAGITIAL JAGITIAL NALGONDA	RURAL RURAL RURAL	80 80 80	OPEN OPEN ST	DC DC CFS	30 30 30	30 30 30	900 900 900	12 12 0	30 30 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	5 5 0	4 4 2
696 697 698	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL, ON JAGITIAL TO DHARMARAM ROAD CHERUKUPALLE VILLAGE ON TUNGATURTHY ROAD,KETHEPALLI MANDAL MULANGUR VILLAGE IN SHANKARAPATNAM MANDAL ON MAIN ROAD ANNARAM SHARIF VILLAGE(PARVATHAGIRI MANDAL) ON	JAGITIAL JAGITIAL NALGONDA KARIMNAGAR	RURAL RURAL RURAL	80 80 80	OPEN OPEN ST OBC	DC DC CFS DC	30 30 30 30	30 30 30 30	900 900 900 900	12 12 0 12	30 30 0 30	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	5 5 0 5	4 2 3
696 697 698 699 700	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL, ON JAGITIAL TO DHARMARAM ROAD CHERUKUPALLE VILLAGE ON TUNGATURTHY ROAD,KETHEPALLI MANDAL MULANGUR VILLAGE IN SHANKARAPATNAM MANDAL ON MAIN ROAD ANNARAM SHARIF VILLAGE(PARVATHAGIRI MANDAL) ON TORRURU ROAD KORUKONDAPALLE VILLAGE ON NEKKONDA - KESAMUDRAM	JAGITIAL  JAGITIAL  NALGONDA  KARIMNAGAR  WARANGAL RURAL	RURAL RURAL RURAL RURAL RURAL	80 80 80 80	OPEN OPEN ST OBC OPEN	DC DC CFS DC DC	30 30 30 30 30	30 30 30 30 30	900 900 900 900 900	12 12 0 12 12	30 30 0 30 30	DRAW OF LOTS	5 5 0 5 5	4 2 3 4
696 697 698 699 700 701 702	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL, ON JAGITIAL TO DHARMARAM ROAD CHERUKUPALLE VILLAGE ON TUNGATURTHY ROAD,KETHEPALLI MANDAL MULANGUR VILLAGE IN SHANKARAPATNAM MANDAL ON MAIN ROAD ANNARAM SHARIF VILLAGE(PARVATHAGIRI MANDAL) ON TORRURU ROAD KORUKONDAPALLE VILLAGE ON NEKKONDA - KESAMUDRAM ROAD NAMPALLE VILLAGE ON PEDDAPUR ROAD, NAMPALLE MANDAL ELGANDAL VILLAGE (KOTHAPALLY MANDAL) ON MAIN ROAD	JAGITIAL  JAGITIAL  NALGONDA  KARIMNAGAR  WARANGAL RURAL  MAHABUBABAD	RURAL RURAL RURAL RURAL RURAL	80 80 80 80 80 60	OPEN OPEN ST OBC OPEN OPEN	DC DC CFS DC DC DC	30 30 30 30 30 30 30	30 30 30 30 30 30 30	900 900 900 900 900 900	12 12 0 12 12 12	30 30 0 30 30 30	DRAW OF LOTS	5 5 0 5 5 5	4 4 2 3 4
696 697 698 699 700 701 702	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL, ON JAGITIAL TO DHARMARAM ROAD CHERUKUPALLE VILLAGE ON TUNGATURTHY ROAD,KETHEPALLI MANDAL MULANGUR VILLAGE IN SHANKARAPATNAM MANDAL ON MAIN ROAD ANNARAM SHARIF VILLAGE(PARVATHAGIRI MANDAL) ON TORRURU ROAD KORUKONDAPALLE VILLAGE ON NEKKONDA - KESAMUDRAM ROAD NAMPALLE VILLAGE ON PEDDAPUR ROAD, NAMPALLE MANDAL	JAGITIAL  JAGITIAL  NALGONDA  KARIMNAGAR  WARANGAL RURAL  MAHABUBABAD  NALGONDA	RURAL RURAL RURAL RURAL RURAL RURAL	80 80 80 80 80 60 75	OPEN OPEN ST OBC OPEN OPEN SC	DC DC CFS DC DC DC CFS	30 30 30 30 30 30 30 30	30 30 30 30 30 30 30 30	900 900 900 900 900 900 900	12 12 0 12 12 12 12	30 30 0 30 30 30 30	DRAW OF LOTS	5 5 0 5 5 5	4 4 2 3 4 4
696 697 698 699 700 701 702 703 704	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL, ON JAGITIAL TO DHARMARAM ROAD CHERUKUPALLE VILLAGE ON TUNGATURTHY ROAD,KETHEPALLI MANDAL MULANGUR VILLAGE IN SHANKARAPATNAM MANDAL ON MAIN ROAD ANNARAM SHARIF VILLAGE(PARVATHAGIRI MANDAL) ON TORRURU ROAD KORUKONDAPALLE VILLAGE ON NEKKONDA - KESAMUDRAM ROAD NAMPALLE VILLAGE ON PEDDAPUR ROAD, NAMPALLE MANDAL ELGANDAL VILLAGE (KOTHAPALLY MANDAL) ON MAIN ROAD QUILESHPUR VILLAGE(RAGHUNATHAPALLI MANDAL) ON MAIN	JAGITIAL  JAGITIAL  NALGONDA  KARIMNAGAR  WARANGAL RURAL  MAHABUBABAD  NALGONDA  KARIMNAGAR	RURAL RURAL RURAL RURAL RURAL RURAL RURAL	80 80 80 80 80 60 75	OPEN OPEN ST OBC OPEN OPEN SC OBC	DC DC CFS DC DC CFS DC DC	30 30 30 30 30 30 30 30 30	30 30 30 30 30 30 30 30 30	900 900 900 900 900 900 900	12 12 0 12 12 12 12 0	30 30 0 30 30 30 0 30	DRAW OF LOTS	5 5 0 5 5 5 0	4 4 2 3 4 4 2 3
696 697 698 699 700 701 702 703 704 705	YARD ,THIRUMALAGIRI SAGAR MANDAL GULLAKOTA VILLAGE IN VELGATUR MANDAL , ON DHARMARAM TO GOLLAPALLI ROAD IBRAHIMNAGAR IN GOLLAPALLY MANDAL , ON JAGITIAL TO DHARMARAM ROAD CHERUKUPALLE VILLAGE ON TUNGATURTHY ROAD,KETHEPALLI MANDAL MULANGUR VILLAGE IN SHANKARAPATNAM MANDAL ON MAIN ROAD ANNARAM SHARIF VILLAGE (PARVATHAGIRI MANDAL) ON TORRURU ROAD KORUKONDAPALLE VILLAGE ON NEKKONDA - KESAMUDRAM ROAD NAMPALLE VILLAGE ON PEDDAPUR ROAD, NAMPALLE MANDAL ELGANDAL VILLAGE (KOTHAPALLY MANDAL) ON MAIN ROAD QUILESHPUR VILLAGE(RAGHUNATHAPALLI MANDAL) ON MAIN ROAD	JAGITIAL  JAGITIAL  NALGONDA  KARIMNAGAR  WARANGAL RURAL  MAHABUBABAD  NALGONDA  KARIMNAGAR  JANGAON	RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL	80 80 80 80 80 60 75 100	OPEN OPEN ST OBC OPEN OPEN SC OBC OPEN	DC DC CFS DC DC CFS DC DC CFS DC	30 30 30 30 30 30 30 30 30	30 30 30 30 30 30 30 30 30	900 900 900 900 900 900 900 900	12 0 12 12 12 12 0 12	30 30 0 30 30 30 0 30 30 30	DRAW OF LOTS	5 5 0 5 5 5 0 5	4 4 2 3 4 4 2 3 4

	BETWEEN GUDIHATNOOR NH FLYOVER BRIDGE TO TOCHAM													
708	VILLAGE LIMITS ON INDRAVELLY-UTNOOR MAIN ROAD NOT ON	ADILABAD	RURAL	140	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
	NH													
709	TEKUMATLA VILLAGE,ON CHITYAL TO VELLISALA ROAD	JAYASHANKAR BHUPALPALLY	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1 /10	NUTHANKAL VILLAGE TOWARDS SURYAPET ON WARANGAL - NEMMIKAL ROAD LHS	SURYAPET	RURAL	85	OBC	СС	30	30	900	12	5	BIDDING	10	3
711	PENCHIKALPET VILLAGE & MANDAL	KOMARAM BHEEM ASIFABAD	RURAL	140	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
712	WITH IN 1 KM FROM SADASIVUNIPALEM VILLAGE BUS STOP TOWARDS MARLAPADU	КНАММАМ	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
713	MOGILICHERLA VILLAGE(KURAVI MANDAL)	MAHABUBABAD	RURAL	85	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
	VADAPALLI VILLAGE, DAMARACHERLA MANDAL (FROM VADAPALLI CHECKPOST TOWARDS RAILYWAY STATION UP TO UNDERPASS) NOT ON SH2	NALGONDA	RURAL	85	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
715	NARASIMHULAPET (V), NARASIMHULAPET (M)	MAHABUBABAD	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
716	GHATTUPPAL VILLAGE ON CHANDUR ROAD ,CHANDUR MANDAL	NALGONDA	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
717	WITHIN 2KM FROM NEMMIKAL BUSSTOP TOWARDS SURYAPET ON NEMMIKAL -WARANGAL ROAD	SURYAPET	RURAL	90	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
718	PERUR VILLAGE ON NAIDUPALEM ROAD, ANUMULA MANDAL	SURYAPET	RURAL	110	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
719	NEERUKULLA VILLAGE(ATMAKUR MANDAL)	WARANGAL RURAL	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
720	RHS, WITHIN 0.5 KM FROM UTNOOR BUSTAND TOWARDS ADILABAD	ADILABAD	RURAL	200	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
721	LAXMANCHANDA VILLAGE AND MANDAL	NIRMAL	RURAL	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
722	MULKANUR TO CHIGURUMAMIDI	KARIMNAGAR	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
723	PEDDAKORUKONDHI VILLAGE ON MAIN ROAD	KHAMMAM	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
724	MARIYALA VILLAGE ON CHIKATIMAMIDI ROAD, BOMMALARAMARAM MANDAL	YADADRI BHUVANAGIRI	RURAL	75	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
725	NAGNOOR TO MOGHDUMPUR BYPASS ROAD	KARIMNAGAR	RURAL	100	OBC	CC	30	30	900	12	5	BIDDING	10	3
726	KOYYUR VILLAGE, ON MANTHANI TO KATARAM ROAD	JAYASHANKAR BHUPALPALLY	RURAL	120	OPEN	CC	30	30	900	12	5	BIDDING	10	4
727	CHERUKUPALLY VILLAGE ,GUNDLAPALLE MANDAL ON DINDI - DEVARAKONDA ROAD	NALGONDA	RURAL	75	OPEN CC 2	DC	30	30	900	12	30	DRAW OF LOTS	5	4
728	HIMMATRAOPET VILLAGE (ON MAIN ROAD)	JAGITIAL	RURAL	60	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
729	GANGADHARA VILLAGE & MANDAL ON BURUGUPALLI ROAD	KARIMNAGAR	RURAL	60	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
730	PAPATAPALLI VILLAGE ON KHAMMAM ROAD	KHAMMAM	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
731	GUBBAGURTHI VILLAGE ON ENKOOR - PALLIPADU ROAD	KHAMMAM	RURAL	80	OPEN	CC	30	30	900	12	5	BIDDING	10	4
732	ADDAGUDUR VILLAGE ON DHARMARAM ROAD, ADDAGUDUR MANDAL	YADADRI BHUVANAGIRI	RURAL	105	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
733	TARIGOPPULA VILLAGE LIMITS ON JANAGOAN -HUSNABAD ROAD	JANGAON	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
734	VILLAGE VADLAGUDEM ON MUSTIBANDA ROAD	BHADRADRI KOTHAGUDEM	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
735	WITH IN 2 KM FROM ASWARAOPET POLICE STATION TOWARDS BHADRACHALAM ROAD	BHADRADRI KOTHAGUDEM	RURAL	80	OPEN	CC	30	30	900	12	5	BIDDING	10	4
736	WITHIN 3 KMS FROM KAMANPUR X ROADS TOWARDS PEDDAPALLI, ON MANTHANI TO PEDDAPALLI ROAD	PEDDAPALLI	RURAL	110	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
737	AMBALA VILLAGE (KAMALAPUR MANDAL)	WARANGAL URBAN	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
738	ETURUNAGARAM VILLAGE NOT ON NH	JAYASHANKAR BHUPALPALLY	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
739	Hanumajipeta Village, on Vemulavada to Hanumajipeta Road	RAJANNA SIRCILLA	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
740	SURVAIL VILLAGE ON MAINROAD ,NARAYANPUR MANDAL	YADADRI BHUVANAGIRI	RURAL	90	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
741	OOKAL VILLAGE(GEESUGONDA MANDAL) ON MAIN ROAD	WARANGAL RURAL	RURAL	70	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4

742	VILLAGE DASAPURAM, ON REABBAVARAM TO NEMALI ROAD	КНАММАМ	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
	ON MANTHANI TO PEDDAPALLI ROAD, WITHIN 3 KMS FROM MANTHANI-GODAVARIKHANI X ROADS (NOT IN MANTHANI MUNCIPALITY LIMITS)	PEDDAPALLI	RURAL	160	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
744	KATARAM VILLAGE TOWARDS MANTHANI	JAYASHANKAR BHUPALPALLY	RURAL	150	OPEN	CC	30	30	900	12	5	BIDDING	10	4
745	MUTHARAM VILLAGE LIMITS (MUTHARAM MANDAL) ON MAIN ROAD	PEDDAPALLI	RURAL	110	OPEN	CC	30	30	900	12	5	BIDDING	10	4
746	MORAMPALLI BANJAR JN TO BURGAMPAHAD	BHADRADRI KOTHAGUDEM	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
747	FROM KERIMERI VILLAGE LIMITS TO DHANORA VILLAGE ON UTNOOR ASIFABAD ROAD	KOMARAM BHEEM ASIFABAD	RURAL	170	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
748	SALI GOWRARAM VILLAGE ON NAKREKAL ROAD, SALIGOWRARAM MANDAL	NALGONDA	RURAL	75	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
749	DONDAPADU VILLAGE (FROM SHRI VISHNU VIDAY NIKETAN TOWARDS RAMAPURAM ROAD UPTO 1 KM )	SURYAPET	RURAL	105	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
750	CHANDURTHI VILLAGE AND MANDAL, ON VEMULAWADA TO KORUTLA ROAD	RAJANNA SIRCILLA	RURAL	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
751	PALAKURTHY - WITH IN 1 KM FROM PALAKURTHY POLICE STATION ON THORRURU ROAD	JANGAON	RURAL	130	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
752	LINGANNAPET VILLAGE, GAMBHIRRAOPET MANDAL ON MUSTABAD TO MACHAREDDY ROAD	RAJANNA SIRCILLA	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
753	WITHIN 2 KMS FROM PARKAL X ROADS TOWARDS KAMALAPURAM	KARIMNAGAR	RURAL	140	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
754	KANNEPALLY VILLAGE LIMITS	MANCHERIAL	RURAL	120	OBC PH	DC	30	30	900	12	30	DRAW OF LOTS	5	3
755	CHANDRUGONDA VILLAGE (NOT ON NH) ON JULLURUPADU ROAD	BHADRADRI KOTHAGUDEM	RURAL	70	ST PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
756	ON PEDDAPALLI TO MANTHANI ROAD, 0.5 KM TO 3.0 KM AFTER PEDDAPALLI BRIDGE	PEDDAPALLI	RURAL	135	OPEN	CC	30	30	900	12	5	BIDDING	10	4
757	VATTEMULA VILLAGE ON VEMULAVADA TO JAGITIAL ROAD LHS	RAJANNA SIRCILLA	RURAL	90	OPEN	CC	30	30	900	12	5	BIDDING	10	4
758	NANDANAM VILLAGE ,BHONGIR MANDAL ON BHONGIR TO CHITYAL ROAD (LHS)	YADADRI BHUVANAGIRI	RURAL	95	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
759	SARANGAPUR VILLAGE LIMITS & MANDAL ON MAIN ROAD	NIRMAL	RURAL	150	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
760	KOONARAM VILLAGE ON KOTHAGUDEM - TEKULAPALLI ROAD	BHADRADRI KOTHAGUDEM	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
761	LHS BETWEEN DEGANA X ROAD TO NH JUNCTION ON ICHODA MAIN ROAD NOT ON NH	ADILABAD	RURAL	160	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
	KOTAPALLY VILLAGE AND MANDAL ON MAIN ROAD	MANCHERIAL	RURAL	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
763	KISTAPUR VILLAGE , JAIPUR MANDAL ON MAIN ROAD	MANCHERIAL	RURAL	140	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
764	FROM BELLAMPALLY TO THALLAGURIJALA ROAD 1.5 KM FROM GURUKULA SCHOOL	MANCHERIAL	RURAL	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
765	ANTHERGAON VILLAGE (ON BASANTNAGAR TO MANCHERIAL ROAD)	PEDDAPALLI	RURAL	120	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
766	TEKULAPALLI VILLAGE ON YELLANDU TO KOTHAGUDEM ROAD	BHADRADRI KOTHAGUDEM	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
767	MOGULLAPALLI VILLAGE ON ISSIPETA ROAD	JAYASHANKAR BHUPALPALLY	RURAL	110	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
768	PEMBI VILLAGELIMITS & MANDAL ON MAIN ROAD	NIRMAL	RURAL	120	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
769	BEGUMPET VILLAGE, ON KALVACHERLA TO MANTHANI ROAD	PEDDAPALLI	RURAL	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
770	SALKANOOR VILLAGE ON MAIN ROAD, VEMULAPALLE MANDAL	NALGONDA	RURAL	85	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
771	TALLAVEERAPUGUDEM VILLAGE TO TOLLAVAGU BRIDGE LHS ,DAMERCHERLA MANDAL	NALGONDA	RURAL	85	OPEN	CC	30	30	900	12	5	BIDDING	10	4

772	KONDAMADUGU VILLAGE ON BIBINAGAR ROAD, BIBINAGAR MANDAL	YADADRI BHUVANAGIRI	RURAL	85	OBC	СС	30	30	900	12	5	BIDDING	10	3
773	NENNEL VILLAGE AND MANDAL ON MAIN ROAD	MANCHERIAL	RURAL	180	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
774	NEMALAPURI VILLAGE ,CHINTALAPALEM MANDAL ( FROM ANJANI CEMENTS WITHIN 1KM TOWARDS JAGGAYYAPETA ROAD )	SURYAPET	RURAL	95	OPEN	СС	30	30	900	12	5	BIDDING	10	4
775	VAGINEPALLI VILLAGE , (INTERSECTION OF JAGGAYYAPET ROAD AND PULICHINTALA RESERVOIR ROAD WITHIN 1 KM ) CHINTALAPALEM MANDAL.	SURYAPET	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
776	DONDAPADU VILLAGE,( TOWARDS JAGGAYYAPET 1 KM FROM ZUVARI CEMENTS TRUCK PARKING AREA ) ,LHS	SURYAPET	RURAL	95	OPEN	СС	30	30	900	12	5	BIDDING	10	4
777	AVADAM VILLAGE LIMITS ON MAIN ROAD, NENNEL MANDAL	MANCHERIAL	RURAL	80	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
778	KANNEBOINAGUDEM VILLAGE ON MAIN ROAD	JANGAON	RURAL	72	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
779	KISUMANCHI TO NELAKONDAPALLI ROAD UPTO 2 KM	KHAMMAM	RURAL	72	OPEN PH	DC	30	30	900	12	30	DRAW OF LOTS	5	4
780	DAHEGAON VILLAGE & MANDAL ON MAIN ROAD	KOMARAM BHEEM ASIFABAD	RURAL	60	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
781	MATTAMPALLI VILLAGE & MANDAL (1 KM FROM SAGAR CEMENTS MAINGATE TOWARDS MATTAPALLI) RHS	SURYAPET	RURAL	110	OPEN	CC	30	30	900	12	5	BIDDING	10	4
782	VEERNAPALLI VILLAGE AND MANDAL, ON YELLAREDDYPET ROAD	RAJANNA SIRCILLA	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
783	BAKKAMANTHULA GUDEM VILLAGE, FROM BUS STOP UPTO 1 KM TOWARDS MATTAPALLI, LHS MATTAMPALLI MANDAL.	SURYAPET	RURAL	100	OPEN	СС	30	30	900	12	5	BIDDING	10	4
784	LHS, WITHIN 1 KMS FROM DILWARPUR X ROAD JUNCTION TOWARDS MALEGAON VILLAGE ON MAIN ROAD NOT ON NH	NIRMAL	RURAL	140	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
785	CHINTHAKANI VILLAGE, WITH IN 1KM FROM BYPASS TO V VENKATAYAPALEM ROAD	КНАММАМ	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
786	DEVANNAPETA VILLAGE(HASANPARHTY MANDAL) ON UNIKICHAERLA ROAD	WARANGAL URBAN	RURAL	100	OPEN	CC	30	30	900	12	5	BIDDING	10	4
787	ICHODA TOWN,TOWARDS BAZARHATNOOR ROAD LHS WITHIN 1.5 KM FROM KUMRAMBHEEM STATUE	ADILABAD	RURAL	140	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
788	FROM NAGARAM CROSS ROADS TOWARDS VALIGONDA WITHIN 1 KM ,VALIGONDA MANDAL	YADADRI BHUVANAGIRI	RURAL	85	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
	PEDDAVEEDU VILLAGE, MATTAMPALLI MANDAL (FROM OLD AMARESHWARI CEMENT FACTORY TOWARDS PEDDAVEDDU WITH IN 1KM),RHS	SURYAPET	RURAL	100	OPEN	CC	30	30	900	12	5	BIDDING	10	4
790	NIPPANI VILLAGE ON MAIN ROAD, BHIMPUR MANDAL	ADILABAD	RURAL	90	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
791	ZAFFERGADH VILLAGE LIMITS ON UPPUGAL MAIN ROAD	JANGAON	RURAL	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
792	VEMANPALLY VILLAGE AND MANDAL ON MAIN ROAD	MANCHERIAL	RURAL	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
793	SHARAJPET VILLAGE ON MAINROAD TOWARDS TANGUTURU ROAD ,ALER MANDAL	YADADRI BHUVANAGIRI	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
794	aipoor village on atmakur (s) road ,atmakur (s) Mandal	SURYAPET	RURAL	105	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
795	WITHIN 2KM FROM KAMALAPUR PRIMARY HEALTH CENTRE TOWARDS SHANIGARAM VILLAGE	WARANGAL URBAN	RURAL	140	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
796	PANDILLAPALLI VILLAGE ON KHAMMAM BONAKAL ROAD.	KHAMMAM	RURAL	90	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
797	KALMALCHERUVU VILLAGE, ON GARIDEPALLI ROAD, GARIDEPALLI MANDAL	SURYAPET	RURAL	105	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
798	NADIGUDEM VILLAGE ON MAIN ROAD NADIGUDEM MANDAL	SURYAPET	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
799	VILLAGE JULURPAD, NOT ON TALLADA- KOTHAGUDEM ROAD	BHADRADRI KOTHAGUDEM	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3

800	KOTHAPALLI (VELICHALA X ROADS)-CHINTAKUNTA BYEPASS ROAD(NOT IN KOTHAPALLI MUNICIPAL LIMITS)	KARIMNAGAR	RURAL	90	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
801	PAMUKUNTA VILLAGE ON RAJAPET ROAD, RAJAPET MANDAL	YADADRI BHUVANAGIRI	RURAL	85	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
802	REVURU VILLAGE, ON DONDAPADU ROAD , MELLACHERUVU MANDAL	SURYAPET	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
803	KAMEPALLI X ROADS UPTO 1 KM TOWARDS SINGARENI	KHAMMAM	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
804	BANAPURAM VILLAGE, ON VALLABHI ROAD	KHAMMAM	RURAL	72	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
805	MALLAPUR VILLAGE AND MANDAL (NOT ON NH)	JAGITIAL	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
806	BHEEMARAM VILLAGE IN MEDIPALLE MANDAL	JAGITIAL	RURAL	90	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
807	WITHIN 2 KMS FROM MULKANOOR VILLAGE TOWARDS ELKATURTHY	WARANGAL URBAN	RURAL	90	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
808	VELLULLA VILLAGE (ON MAIN ROAD), METPALLY MANDAL	JAGITIAL	RURAL	100	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
809	LOKESHWARAM VILLAGE LIMITS & MANDAL ON MAIN ROAD	NIRMAL	RURAL	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
810	NARLAPUR TO KOTHUR(TADWAI MANDAL)	JAYASHANKAR BHUPALPALLY	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
811	SIRIKONDA VILLAGE LIMITS ON ICHODA ROAD	ADILABAD	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
812	NARNOOR VILLAGE & MANDAL ON MAIN ROAD	ADILABAD	RURAL	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
813	BETWEEN KERIMERI VILLAGE LIMITS TO DHANORA VILLAGE ON UTNOOR ASIFABAD ROAD	KOMARAM BHEEM ASIFABAD	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
814	5 KM FROM BOTH X ROADS TOWARDS KINWAT ON MAIN ROAD	ADILABAD	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
815	PEMBI VILLAGELIMITS UNDER PEMBI MANDAL ON MAIN ROAD	NIRMAL	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
816	LINGAPUR VILLAGE , DANDEPALLY MANDAL ON SH-24 ROAD	MANCHERIAL	REGULAR	105	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
817	2 KM FROM SIRPUR(U) TOWN ON LINGAPUR ROAD	KOMARAM BHEEM ASIFABAD	RURAL	80	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
818	WITHIN 2.0 KM FROM INDRAVELLY POLICE STATION TOWARDS UTNOOR ON LHS	ADILABAD	RURAL	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
819	KHARKAGUDEM WITHIN 1 KM FROM POLICE STATION TOWARDS BAYYARAM ROAD	BHADRADRI KOTHAGUDEM	RURAL	90	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
820	PANDIATAPURAM VILLAGE ON KHAMMAM TO YELLANDU ROAD	КНАММАМ	RURAL	90	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
821	GANGARAM VILLAGE ON KOTHAGUDA - YELLANDU ROAD	MAHABUBABAD	RURAL	90	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
822	KATAPURAM(TADWAI MANDAL)	JAYASHANKAR BHUPALPALLY	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
823	CHANDUR , WITHIN 1 KM FROM BUSSTAND TOWARDS MALL ROAD	NALGONDA	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
824	WITHIN 2 KM FROM ALINAGAR JUNCTION TOWARDS NALGONDA ON NH565,ANUMULA MANDAL	NALGONDA	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
825	WITHIN 1 KM FROM NAKREKAL JUNCTION TOWARDS NALGONDA	NALGONDA	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
826	BETWEEN KM STONE 107 TO 109 ON NH 65 (LHS ,FROM VIJAYAWADA TO HYDERABAD)	NALGONDA	REGULAR	150	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
827	CHOWTUPPAL MUNICIPAL LIMITS ON VALIGONDA ROAD	YADADRI BHUVANAGIRI	REGULAR	105	OPEN CC 1	DC	30	30	900	25	45	DRAW OF LOTS	15	5
828	FROM MIRYALGUDA BUSTAND UPTO UNDERPASS TOWARDS VENKATADRIPALEM	NALGONDA	REGULAR	100	SC	CFS	18	25	450	0	0	DRAW OF LOTS	0	3
829	WITHIN 2 KM FROM HALIYA BUS STAND TOWARDS PEDAVOORA ON NH 167	NALGONDA	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
830	BHONGIR (FROM RAILWAY STATION TOWARDS YADAGIRIGUTTA ) NOT ON NH	YADADRI BHUVANAGIRI	REGULAR	100	OPEN	DC	22	22	484	25	45	DRAW OF LOTS	15	5
831	WITH IN DEVARAKONDA MUNICIPAL LIMITS ON MALLEPALLI ROAD ON NH-167	NALGONDA	REGULAR	150	OPEN	DC	22	22	484	25	75	DRAW OF LOTS	15	5
832	LHS, WITHIN 2 KM FROM LUXETTIPET X ROADS TOWARDS MANCHERIAL ON NH63	MANCHERIAL	REGULAR	160	OBC	CC	35	45	1575	25	10	BIDDING	30	4

833	NEREDIGONDA VILLAGE LIMITS TO BOATH X ROADS ON NH-44	ADILABAD	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
834	SURYAPET (FROM OLD BUSSTAND TO EENADU OFFICE)	SURYAPET	REGULAR	100	OPEN	DC	22	22	484	25	45	DRAW OF LOTS	15	5
835	SURYAPET (FROM OLD BUSSTAND TO GOVT HOSPITAL)	SURYAPET	REGULAR	100	OPEN	DC	22	22	484	25	45	DRAW OF LOTS	15	5
836	WITHIN 2 KM FROM TIRUMALAGIRI JUNCTION TOWARDS THORRUR	SURYAPET	REGULAR	100	OBC	DC	35	45	1575	25	45	DRAW OF LOTS	15	4
837	BELLAMPALLY TOWN LIMITS NOT ON SH	MANCHERIAL	REGULAR	130	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
838	KODAD WITH IN MUNICIPAL LIMITS	SURYAPET	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
839	HUZURNAGAR BYPASS,HUZURNAGAR VILLAGE & MANDAL	SURYAPET	REGULAR	100	OPEN	DC	35	45	1575	25	45	DRAW OF LOTS	15	5
840	WITH IN 2KM FROM VM BANJARA CIRCLE TO SATTUPALLY ROAD ON RHS	КНАММАМ	REGULAR	120	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
841	2 KM FROM MADUGULAPALLY VILLAGE TOWARDS MIRYALGUDA ON SH2 , RHS	NALGONDA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	KODAD (WITHIN 1KM FROM INTERSECTION OF OLD NH 65 WITH ANANTHAGIRI ROAD TOWARDS ANANTHAGIRI )	SURYAPET	REGULAR	100	OPEN	DC	22	22	484	25	45	DRAW OF LOTS	15	5
843	MOTHKUR MUNCIPAL LIMITS TOWARDS HYDERABAD	YADADRI BHUVANAGIRI	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
844	1 km ,either side of Nagaram Village on NH 365B	SURYAPET	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
8/15	KODAD TOWN (FROM MELLACHERUVU JUNCTION TOWARDS HUZURNAGAR JUNCTION ), LHS	SURYAPET	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
846	ON SH-7, 1.0 KM ON EITHER SIDE OF PATHIPAKA X ROADS	PEDDAPALLI	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
847	WITHIN 2KM FROM HALIYA X ROADS TOWARDS NAGARJUNA SAGAR ON NH 565,LHS	NALGONDA	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
848	WITHIN 2 KM, ARVAPALLE JUNCTION TOWARDS SURYAPET ON NH 365B	SURYAPET	REGULAR	150	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
849	WITHIN CHITYAL MUNICIPAL LIMITS ON NH 65 TOWARDS HYDERABAD ,LHS	NALGONDA	REGULAR	150	OPEN	DC	35	45	1575	25	45	DRAW OF LOTS	15	5
850	MARRIPEDA WITHIN 2 KM FROM BUS STATION, ON KHAMMAM TO WARANGAL ROAD NH-563 LHS	MAHABUBABAD	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
851	ON RHS, FROM INDARAM VILLAGE TO GODAVARI BRIDGE ON SH-1	MANCHERIAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
852	CHITYAL MUNICIPAL LIMITS, WITHIN 1KM FROM IDL FACTORY ON CHITYAL TO BHONGIR ROAD ,LHS	NALGONDA	REGULAR	100	OPEN	DC	35	45	1575	25	45	DRAW OF LOTS	15	5
	RAIKAL MUNICIPAL LIMITS TOWARDS BOURNAPALLI	JAGITIAL	REGULAR	130	OPEN CC 1	DC	30	30	900	25	45	DRAW OF LOTS	15	5
854	LHS ON NH-44 WITHIN 5 KM FROM NIRMAL(KADTHAL) NH BYPASS END TOWARDS HYDERABAD	NIRMAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
	ADILABAD MUNCIPAL LIMITS	ADILABAD	REGULAR	140	SC	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
	MANCHERIAL BYPASS ROAD	MANCHERIAL	REGULAR	180	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
857	MANCHERIAL TOWN-BETWEEN IB CHOURASTA TO BELLAMPALLY CHOURASTA ON SH-1	MANCHERIAL	REGULAR	180	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
858	LHS,4 KM FROM JAIPUR THERMAL POWER PLANT TOWARDS CHENNUR	MANCHERIAL	REGULAR	180	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
	LHS,PULIMADUGU TO ANDUGULPET ON SH-1	MANCHERIAL	REGULAR	180	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BHAINSA TOWN LIMITS ON MAIN ROAD NOT ON NH	NIRMAL	REGULAR	140	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
861	KHAMMAM TOWN :WITH IN 2 KM FROM NTR CIRCLE ON YELLANDU ROAD	KHAMMAM	REGULAR	120	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
862	WITHIN HUZURABAD MUNCIPAL LIMITS ON HUZURABAD TO SAIDAPUR ROAD	KARIMNAGAR	REGULAR	130	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
863	KALLURU, BETWEEN KHAN KHAN PETA TO RTC BUSSTAND ON SH42	KHAMMAM	REGULAR	120	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
864	LANKAPALLI ON SATTUPALLI TO V.M. BANJAR ROAD ON SH-42	КНАММАМ	REGULAR	120	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
865	KALESHWARAM ON NH-353C	JAYASHANKAR BHUPALPALLY	REGULAR	150	OPEN CC 2	DC	35	45	1575	25	75	DRAW OF LOTS	15	5

866	LHS BETWEEN NIRMAL BYPASS END TO NEREDIGONDA ON NH-	NIRMAL	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
867	SUJATHANAGAR ON KHAMMAM KOTHAGUDEM ROAD	BHADRADRI KOTHAGUDEM	REGULAR	120	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
868	KHAMMAM TOWN, FROM MUSTAFFA NAGAR TO SREERAM HILLS ON BONAKAL ROAD	КНАММАМ	REGULAR	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
869	1KM EITHER SIDE OF ANGADIPETA X ROADS ON SH 19 ,PEDDA ADISHERLAPALLY MANDAL	NALGONDA	REGULAR	105	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
870	WITH IN 4 KM SATTUPALLI JUNCTION TO ASHWARAOPET ON SH42	КНАММАМ	REGULAR	140	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
871	WITH IN 3 KM SATTUPALLI JUNCTION TO VEMSOOR ROAD	KHAMMAM	REGULAR	120	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
872	WITHIN JAMMIKUNTA MUNCIPAL LIMITS LHS ON JAMMIKUNTA TO VAVILALA ROAD	KARIMNAGAR	REGULAR	120	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
	MANUGUR TOWN LIMITS	BHADRADRI KOTHAGUDEM	REGULAR	120	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
874	NEW PALVANCHA TO JAGANATHAPURAM ON NH-30	BHADRADRI KOTHAGUDEM	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
875	NTR CIRCLE TO SRI SRI CIRCLE ON KHAMMAM BYPASS	KHAMMAM	REGULAR	130	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
876	JAGITIAL MUNICIPAL LIMITS, ON NH-563	JAGITIAL	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
877	ON NH-563, PENCHIKALAPETA VILLAGE, LHS FROM HUZRABAD TO WARANGAL	WARANGAL URBAN	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
878	WITH IN 4 KM FROM AREMPULA TO TIRUMALAYAPALEM ON NH 563	КНАММАМ	REGULAR	150	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
879	ON JAGITIAL BYE PASS ROAD TOWARDS DHARMAPURI	JAGITIAL	REGULAR	110	OPEN CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
880	ON NH-63, METPALLY TO KORUTLA	JAGITIAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
881	2 KM FROM DEGAON VILLAGE LIMITS ON SH-24	NIRMAL	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
882	PALVANCHA TOWN LIMITS	BHADRADRI KOTHAGUDEM	REGULAR	100	OPEN	DC	18	23	414	25	45	DRAW OF LOTS	15	5
883	WITH IN 2KM FROM CHANDRUGONDA VILLAGE TOWARDS KOTHAGUDEM ON NH-30	BHADRADRI KOTHAGUDEM	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
884	KARIMNAGAR TOWN BETWEEN ST.ALPHONES SCHOOL TO SRIKANTH HONDA SHOWROOM (MANKAMMA THOTA)	KARIMNAGAR	REGULAR	150	OBC	CC	20	20	400	25	10	BIDDING	30	4
885	YESWANTAPUR TO RAGUNATHAPALLI ON NH 163 LHS	JANGAON	REGULAR	160	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
886	WITH IN 5 KM FROM MORAMPALLI JUNCTION TOWARDS BHADRACHALAM ON NH30	BHADRADRI KOTHAGUDEM	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
887	BONAKAL VILLAGE, WITH IN 2KM FROM FLYOVER TOWARDS WYRA ROAD	КНАММАМ	REGULAR	120	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
888	BETWEEN KM STONE 184 TO 189 ON NH 65 RHS( FROM VIJAYAWADA TO HYDERABAD )	SURYAPET	REGULAR	175	OBC	CC	35	45	1575	25	10	BIDDING	30	4
889	ON SH-1, LHS FROM DURSHED TO MOGHDHAMPUR	KARIMNAGAR	REGULAR	130	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
890	FROM KARIMNAGAR DISTRICT COURT TO SH1-FLYOVER (WITHIN MUNICIPAL LIMITS)	KARIMNAGAR	REGULAR	175	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
891	DHARUR VILLAGE ON NH 563	KARIMNAGAR	REGULAR	150	OBC PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
892	ON SH-1, RHS AFTER 1 KMS FROM BASANTHNAGAR TOLL GATE TO ANDUGULAPALLI	PEDDAPALLI	REGULAR	190	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
893	ON RAMAGUNDAM MUNICIPAL CORPORATION OFFICE TO VITTAL NAGAR ROAD	PEDDAPALLI	REGULAR	200	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
894	ON SH-1 GODAVARI BRIDGE TO RAMAGUNDAM MUNICIPAL CORPORATION OFFICE JUNCTION	PEDDAPALLI	REGULAR	260	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
895	KHAMMAM, SURYAPET X ROADS TO VENKATAGIRI X ROADS	КНАММАМ	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
896	ON KARIMNAGAR TO NAGNOOR ROAD, WITHIN KARIMNAGAR MUNICIPAL LIMITS	KARIMNAGAR	REGULAR	170	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
897	ON SH-1, WITHIN 3 KMS FROM MANTHINI FLYOVER RHS TOWARDS BASANTH NAGAR	PEDDAPALLI	REGULAR	150	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
898	ON KARIMNAGAR TO JAGITIAL ROAD, FROM DISTRICT COURT TO REKURTHI BYPASS JUNCTION, LHS	KARIMNAGAR	REGULAR	160	OBC	CC	20	20	400	25	10	BIDDING	30	4

XQQ	BHADRACHALAM, WITH IN 2KM FROM AMBEDKAR STATUE TOWARD KUNAVARAM ON NH 30	BHADRADRI KOTHAGUDEM	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
900	ON NH-63, RHS FROM JAGTILAL TO KORUTLA, BETWEEN 92 AND 94 KMS MILE STONES	JAGITIAL	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
901	SULTANABAD MUNICIPAL LIMITS ON SH-1	PEDDAPALLI	REGULAR	110	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
902	ON SH-1, LHS, ALGUNOOR TO THIMMAPUR	KARIMNAGAR	REGULAR	180	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
903	ON FCI X ROADS TO GOUTHAMI NAGAR, WITHIN RAMAGUNDAM MUNICIPAL LIMITS	PEDDAPALLI	REGULAR	120	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
	KAMAN JUNCTION TO RAMAGUNDAM BYPASS ROAD VIA SUSHRUTHA CANCER HOSPITAL, LHS (NOT ON SH)	KARIMNAGAR	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
905	1KM EITHER SIDE OF THATIKAL VILLAGE ON NH 565 ,NAKREKAL MANDAL (LHS NAKREKAL TO NALGONDA)	NALGONDA	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
906	ON SH-1, KANNALA VILLAGE OF PALAKURTHY MANDAL	PEDDAPALLI	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
907	RAIKAL MUNCIPAL LIMITS TOWARDS KORUTLA	JAGITIAL	REGULAR	120	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
908	BHEEMARAM VILLAGE LIMITS TO KISHTAMPET X ROAD ON NH- 63	MANCHERIAL	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
909	ON SH 7 WITHIN 3 KM FROM RUKNAPUR VILLAGE RHS TOWARDS CHOPPADANDI	KARIMNAGAR	REGULAR	120	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
910	WITHIN 1KM FROM NAKREKAL JUNCTION TOWARDS THIPPARTHI	NALGONDA	REGULAR	100	OBC	DC	22	22	484	25	45	DRAW OF LOTS	15	4
911	HUZRABAD MUNCIPAL LIMITS NOT ON NH	KARIMNAGAR	REGULAR	180	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
912	2KM EITHER SIDE OF BIBINAGAR TAHSILDAR OFFICE ON NH 163 (LHS ,BHONGIR TO HYD)	YADADRI BHUVANAGIRI	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
913	KATARAM VILLAGE ON NH 353-C	JAYASHANKAR BHUPALPALLY	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
914	LUXETTIPET TOWN LIMITS NOT ON NH	MANCHERIAL	REGULAR	100	OBC CC 1	DC	24	24	576	25	45	DRAW OF LOTS	15	4
915	BIBINAGAR TOWN LIMITS	YADADRI BHUVANAGIRI	REGULAR	100	OPEN	DC	22	22	484	25	45	DRAW OF LOTS	15	5
916	WITHIN 3 KM FROM NARKATPALLI UNDERPASS TOWARDS NALGONDA ON SH2 , LHS	NALGONDA	REGULAR	150	OPEN PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
91/	ON SH-7 APOLLO REACH HOSPITAL TO NAGNOOR (NOT IN NAGNOOR)	KARIMNAGAR	REGULAR	200	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
918	2KM FROM WANGAPALLY VILLAGE ON NH 163 TOWARDS BHONGIR,LHS	YADADRI BHUVANAGIRI	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
919	UPTO 1KM FROM NALGONDA CLOCK TOWER CIRCLE TOWARDS PANAGAL ROAD , LHS	NALGONDA	REGULAR	100	OPEN	DC	22	22	484	25	45	DRAW OF LOTS	15	5
920	SIRICILLA MUNCIPAL LIMITS, ON RAGUDU TO PEDDUR ROAD, LHS	RAJANNA SIRCILLA	REGULAR	200	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
921	PATHARLAPADU TO CHANDRUTHANDA ON NH-563 RHS	KHAMMAM	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
999	2KM FROM LINGOJIGUDEM VILLAGE ON NH 65 TOWARDS HYDERABAD, RHS	YADADRI BHUVANAGIRI	REGULAR	150	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
(17)2	BETWEEN KM STONE 174 TO 176 ON NH 65 LHS (FROM VIJAYAWADA TO HYDERABAD )	SURYAPET	REGULAR	150	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
974	UPTO 4KM FROM RANGAREDDY DISTRICT BORDER ON NH 65 TOWARDS VIJAYAWADA. LHS	YADADRI BHUVANAGIRI	REGULAR	170	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
	MEDIPALLY TO MOHANRAOPET, LHS ON NH-63	JAGITIAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
926	WITHIN 3 KM, FROM BELLAMPALLY RLY STN ON SH 1 TOWARDS MANCHERIAL	MANCHERIAL	REGULAR	170	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
477	PAIDIPALLY VILLAGE TO WARANGAL(MULUGU CROSS ROAD JN) ON NH 163 LHS	WARANGAL URBAN	REGULAR	150	OPEN	DC	24	24	576	25	75	DRAW OF LOTS	15	5
928	LUXETTIPET JN TO RAYAPATNAM BRIDGE ON NH 63	MANCHERIAL	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
929	KORUTLA MUNICIPAL LIMITS, ON NH-63	JAGITIAL	REGULAR	160	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
930	KHAMMAM TOWN, YELLANDU X ROADS TO SRI SRI CIRCLE ON LHS	КНАММАМ	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
931	JANAGOAN, WITH IN MUNICIPAL LIMITS NOT ON NH	JANGAON	REGULAR	140	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5

932	ON NH-563, CHINTHAKUNTA VILLAGE (KOTHAPALLY MANDAL)	KARIMNAGAR	REGULAR	160	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
	WITH IN 3 KM FROM GANDHINAGAR(MULUGU GHANPURE X ROAD) TOWARDS PARKAL EITHER SIDE ON NH 353C	JAYASHANKAR BHUPALPALLY	REGULAR	160	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
934	MAHABUBABAD -WITH IN 2KM FROM FLY OVER TOWARDS KURAVI ON NH 365	MAHABUBABAD	REGULAR	160	OPEN	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
935	UPTO 3 KM FROM CHUNCHUPALLI JN TOWARDS KOTHAGUDEM	BHADRADRI KOTHAGUDEM	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
936	PUDUR TO KONDAGATTU ON NH-563	JAGITIAL	REGULAR	150	OBC	CC	35	45	1575	25	10	BIDDING	30	4
937	WITH IN MAHABUBABAD MUNICIPAL LIMITS NOT ON NH	MAHABUBABAD	REGULAR	150	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
938	KHANAPURE TO BUDHARAOPETA ON NH 365	WARANGAL RURAL	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
939	V VENKATAYAPALEM ON SH 42 ON LHS TOWARDS WYRA	KHAMMAM	REGULAR	150	SC	CFS	24	24	576	0	0	DRAW OF LOTS	0	3
940	ON SH-7,WITHIN 2 KMS FROM CHOPPADANDI JAWAHAR NAVODHAYA VIDHYALAYA, TOWARDS KARIMNAGAR	KARIMNAGAR	REGULAR	120	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
0/11	PARKAL(WITH IN MUNICIPAL LIMITS NOT ON NH) ON HUZURABAD ROAD	WARANGAL RURAL	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
942	YELLENDU TOWN LIMITS	BHADRADRI KOTHAGUDEM	REGULAR	150	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
943	UPTO 2 KM PENUBALLI GANDHI STATUE JN TOWARDS TIRUVURU ON NH-30	КНАММАМ	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
944	KESAVAPURAM ON SH-42, KUSUMANCHI MANDAL	KHAMMAM	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
0.45	UPTO 3 KM FROM THALLADA JN TOWARDS KOTHAGUDEM ROAD	КНАММАМ	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
	KHAMMAM ON SAMBHANI NAGAR TO KOTHAGUDEM VILLAGE	KHAMMAM	REGULAR	120	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
947	WITH IN 2KM FROM KHAMMAM MAHBUBABAD JUNCTION TOWARDS MAHBUBABAD ROAD 365A	KHAMMAM	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
	GUMPENA VILLAGE ON NH 30	BHADRADRI KOTHAGUDEM	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	UPTO 4 KM FROM THALLADA JUNCTION TOWARDS WYRA	KHAMMAM	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
950	UPTO 2 KM FROM WYRA JN TOWARDS ASWARAOPET ROAD ON LHS	KHAMMAM	REGULAR	150	OPEN	CC	30	30	900	25	10	BIDDING	30	5
951	ON NH-563, ALGANOOR VILLAGE RHS TOWARDS HUZURABAD	KARIMNAGAR	REGULAR	150	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
	KHAMMAM (BETWEEN YELLANDU CROSS ROAD TO NTR CIRCLE)	КНАММАМ	REGULAR	120	OPEN	CC	20	20	400	25	10	BIDDING	30	5
953	VEDIRA TO KURIKYALA, RHS ON NH-563	KARIMNAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	On Karimnagar to Jagitial Road, from district court to Rekurthi Bypass Junction, RHS	KARIMNAGAR	REGULAR	160	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
955	KHAMMAM TOWN, ON BUS DEPOT ROAD	KHAMMAM	REGULAR	120	OPEN CC 1	DC	24	24	576	25	45	DRAW OF LOTS	15	5
	KOTHAGUDEM YELLANDU X ROAD TO PALVANCHA ON NH30	BHADRADRI KOTHAGUDEM	REGULAR	160	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
95/	WITHIN 4 KMS FROM PEDDAPALLI BUS STAND TOWARDS BASANTHNAGAR , ON LHS, ON SH-1	PEDDAPALLI	REGULAR	160	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
958	KHAMMAM TOWN, NTR CIRCLE TO WARANGAL CROSS ROADS ON KHAMMAM BYPASS ON LHS	КНАММАМ	REGULAR	120	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
959	KHAMMAM MUNCIPAL LIMITS	KHAMMAM	REGULAR	120	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
960	MUGGUVENKATAPURAM PANCHAYATI, MUTHAGUDEM BORDER TOWARDS KALLURU ON SH-46 UPTO 2 KM	КНАММАМ	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1 061	PEDDAPALLI TOWN LIMITS, ON SH-1, LHS TOWARDS SULTANABAD	PEDDAPALLI	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
962	WITHIN 2 KM SWARNA BHARATHI ENGG COLLEGE TOWARDS SURYAPET ON SH-42	КНАММАМ	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
963	PALVANCHA UPTO 4 KM ON DAMMAPET ROAD	BHADRADRI KOTHAGUDEM	REGULAR	120	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5

964	VELUGUMATLA VILLAGE ON RHS ON SH-42 TOWARDS WYRA	KHAMMAM	REGULAR	150	OPEN CC 2	CC	24	24	576	25	10	BIDDING	30	5
965	METPALLY MUNICIPAL LIMITS ON NH-63	JAGITIAL	REGULAR	200	OBC CC 1	DC	20	20	400	25	75	DRAW OF LOTS	15	4
966	MANCHERIAL IB CHOWRASTA TO NASPUR CCC X ROADS	MANCHERIAL	REGULAR	150	SC CC 1	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
967	KOTHAGUDEM TOWN LIMITS	BHADRADRI KOTHAGUDEM	REGULAR	120	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
968	KHAMMAM TOWN, WYRA ROAD JN TO LAKARAM JUNCTION ON MAMATHA COLLEGE ROAD	КНАММАМ	REGULAR	120	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
969	RAIKAL MUNICIPAL LIMITS TOWARDS JAGITIAL	JAGITIAL	REGULAR	150	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
970	ON SH-11, RAGUDU VILLAGE, LHS FROM SIRICILLA TO VEMULAWADA	RAJANNA SIRCILLA	REGULAR	160	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
971	NIRMAL MUNCIPAL LIMITS	NIRMAL	REGULAR	200	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
972	KHAMMAM TOWN, BONAKAL X ROAD TO MUNNERU BRIDGE	КНАММАМ	REGULAR	120	OPEN	DC	24	24	576	25	45	DRAW OF LOTS	15	5
973	ON SH-11, BAOPET VILLAGE	KARIMNAGAR	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
974	KHAMMAM TOWN, BALLEPALLI ON YELLANDU ROAD	KHAMMAM	REGULAR	120	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
975	BHADRACHALAM, UPTO 2 KM FROM AMBEDKAR STATUE JN TOWARDS CHERLA ROAD	BHADRADRI KOTHAGUDEM	REGULAR	160	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
976	SATTUPALLI TOWN LIMITS	KHAMMAM	REGULAR	120	OPEN	CC	24	24	576	25	10	BIDDING	30	5
977	JAGITIAL TOWN LIMITS NOT ON NH	KARIMNAGAR	REGULAR	120	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
978	DILWARPUR VILLAGE LIMITS TO LOLAM VILLAGE LIMITS ON NH- 61	NIRMAL	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
979	WITH IN 1 KM FROM URSUGUTTA JUNCTION ON KADIPIKONDA ROAD	WARANGAL URBAN	REGULAR	160	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
980	CHENNUR BYPASS ROAD (BETWEEN KISTAMPET JN TO ASANAD X ROAD ON NEW NH 63 (OLD NH 16)	MANCHERIAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
981	UPTO 2 KM FROM THALLADA JN TOWARDS ASWARAOPET ROAD ON SH42 LHS	KHAMMAM	REGULAR	150	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
982	KOTHAGUDEM ON NEW BYEPASS (NEAR BY PENUBALLY ROAD)	BHADRADRI KOTHAGUDEM	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
983	FROM HAZIPUR TO DONABANDA ON NH-63 LHS	MANCHERIAL	REGULAR	160	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
984	DUMMUGUDEM ON CHERLA ROAD	BHADRADRI KOTHAGUDEM	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
985	KARIMNAGAR TOWN RHS BETWEEN SHIVA THEATRE TO SATAVAHANA UNIVERSITY	KARIMNAGAR	REGULAR	200	OPEN	CC	20	20	400	25	10	BIDDING	30	5
986	METPALLY TO VEMPET ROAD, IN METPALLY MUNICIPAL LIMITS	JAGITIAL	REGULAR	160	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
987	FROM MANCHERIAL IB CHOWRASTA TO RTO OFFICE ON NH 63 LHS	MANCHERIAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
988	MANGAPETA VILLAGE & MANDAL ON ETURUNAGARAM TO MANUGUR ROAD (SH)	JAYASHANKAR BHUPALPALLY	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
989	UPTO 2.0 KM FROM KORUTLA BUS STAND TOWARDS METPALLY ON LHS (NH-63)	JAGITIAL	REGULAR	180	OPEN	CC	30	30	900	25	10	BIDDING	30	5
990	ON SH-11, VENKATAPUR	RAJANNA SIRCILLA	REGULAR	130	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
991	WITHIN 2 KM FROM GUDIHATNOOR BUS STAND ON NH44	ADILABAD	REGULAR	180	OBC PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
992	MANTHANI MUNICIPAL LIMITS	PEDDAPALLI	REGULAR	100	ST PH	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
993	WITHIN 4 KMS FROM RAJARAMPALLY VILLAGE TOWARDS RAYAPATNAM ON SH-7	JAGITIAL	REGULAR	160	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
994	KARIMNAGAR TOWN LHS BETWEEN SHIVA THEATRE TO SATAVAHANA UNIVERSITY	KARIMNAGAR	REGULAR	200	OPEN	CC	20	20	400	25	10	BIDDING	30	5
995	NIRMAL - LHS BETWEEN MANCHERIAL CHOWRASTA TO KADTHAL NH BYPASS END (NOT ON NH)	NIRMAL	REGULAR	200	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
996	THADIKAL TO KESAVAPATNAM, LHS ON NH-563	KARIMNAGAR	REGULAR	175	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
997	WITH IN 3KM RHS VENKATAPURAM BUS STAND TO CHARLA ROAD ON SH-12	BHADRADRI KOTHAGUDEM	REGULAR	110	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

998	CHENGERLA TO GATTUDUDDENAPALLI, RHS ON NH-563	KARIMNAGAR	REGULAR	175	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
999	RHS, WITHIN 2KM FROM LAXMANCHANDA X ROADS TOWARDS NIRMAL	NIRMAL	REGULAR	150	OBC	CC	35	35	1225	25	10	BIDDING	30	4
1000	HUZRABAD TO SINGAPORE ON NH-563	KARIMNAGAR	REGULAR	180	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1001	HANAMKONDA, FATHIMA JN TO SUBEDARI X ON NH-163 LHS	WARANGAL URBAN	REGULAR	180	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1002	FROM NARSAPUR TO RAMPOOR VILLAGE LIMITS TOWARDS NIRMAL ON NEW NH-61 (OLD NH 222)	NIRMAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1003	KARIMNAGAR TOWN - GEETHA BHAVAN TO PADMANAGAR UPTO HYD BYPASS JUNCTION	KARIMNAGAR	REGULAR	160	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
	KAGAZNAGAR WITHIN MUNCIPAL LIMITS	KOMARAM BHEEM ASIFABAD	REGULAR	120	OPEN CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1005	WITHIN 2 KMS FROM PEMBI X ROADS TOWARDS NIRMAL ON SH- 24	NIRMAL	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1006	WITH IN 2 KM FROM RAGHUNATHAPALLI BUS STATION TOWARDS JANAGAON ON NH-163 LHS	JANGAON	REGULAR	180	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1007	ON SH-1, KATNAPALLY VILLAGE, ON LHS FROM SULTANABAD TO DUBBAPALLI.	PEDDAPALLI	REGULAR	200	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
	FATHIMA JN TO KU CROSS ON 100 FT ROAD LHS	WARANGAL URBAN	REGULAR	180	OPEN	CC	22	22	484	25	10	BIDDING	30	5
	REBBANA ON HIGHWAY	KOMARAM BHEEM ASIFABAD	REGULAR	150	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
	KONGALA VILLAGE ON NH 163 VAJEDU MANDAL	JAYASHANKAR BHUPALPALLY	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1011	ON SH-1 MUNICIPAL CORPORATION OFFICE JUNCTION TO RAMGUNDAM RAILWAY STATION JUNCTION(WITHIN MUNICIPAL LIMITS)	PEDDAPALLI	REGULAR	280	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1012	RAMAGUNDAM MUNICIPAL LIMITS (NOT ON SH-1)	PEDDAPALLI	REGULAR	200	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1013	THANGALAPALLI VILLAGE, ON SIRICILLLA- SIDDIPET ROAD	RAJANNA SIRCILLA	REGULAR	200	OPEN	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1014	WITHIN 3 KMS FROM REKURTHY JUNCTION TOWARDS JAGITIAL	KARIMNAGAR	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1015	PEDDPALLI MUNCIPAL LIMITS NOT ON SH	PEDDAPALLI	REGULAR	120	ST CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	DHARMAPURI MUNCIPAL LIMITS	JAGITIAL	REGULAR	110	OPEN PH	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1017	WITH IN 2 KM FROM JANAGOAN JN., TOWARDS SURYAPETA ON NH-365 B (OLD SH-9)	JANGAON	REGULAR	160	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
1018	KARIMNAGAR TOWN - FROM NTR STATUE TO SIRICILLA BYPASS JUNCTION VIA UJWALA PARK	KARIMNAGAR	REGULAR	180	OPEN	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1010	BETWEEN KM STONE 67 TO 69 ON NH 65 (LHS ,VIJAYAWADA TO HYDERABAD)	NALGONDA	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	HANAMKONDA CHOWRASTA TO CENTRAL PRISION ON LHS	WARANGAL URBAN	REGULAR	220	OPEN	DC	22	22	484	25	60	DRAW OF LOTS	15	5
	NARSAMPETA, WITH IN MUNICIPAL LIMTS NOT ON NH	WARANGAL RURAL	REGULAR	110	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1022	ON NH 563, WITHIN 2 KM FROM KOTHAGATTU VILLAGE , ON LHS TOWARDS KARIMNAGAR	KARIMNAGAR	REGULAR	180	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1023	NAMPALLI TO SANKEPALLI, ON SH-11, RHS	RAJANNA SIRCILLA	REGULAR	140	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
	ADILABAD - LHS FROM COLLECTORATE CHOWK TO MAVALA	ADILABAD	REGULAR	140	ST	CFS	24	24	576	0	0	DRAW OF LOTS	0	3
1025	WITH IN 2 KM FROM MARIPEDA KARGIL CENTRE TOWARDS THANAMCHARLA ON NH 365	MAHABUBABAD	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1026	PEDDAPALLI TOWN LIMITS, ON SH-1, RHS TOWARDS SULTANABAD	PEDDAPALLI	REGULAR	160	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
	VEMULAWADA MUNCIPAL LIMITS	RAJANNA SIRCILLA	REGULAR	120	OPEN CC 1	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1028	WITHIN 2 KM FROM MALLEPALLI JUNCTION TOWARDS CHINTAPALLI ,LHS	NALGONDA	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	MAHABUBABAD TO JAMANDLAPALLI VILLAGE ON NH 365	MAHABUBABAD	REGULAR	150	OBC	CC	35	45	1575	25	10	BIDDING	30	4
1030	ON SH-1, AT ANDUGULAPALLI VILLAGE, LHS FROM BASANTHNAGAR TO ANDUGULAPALLI	PEDDAPALLI	REGULAR	190	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1031	KARIMNAGAR TOWN MUNCIPAL LIMITS	KARIMNAGAR	REGULAR	150	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5

1032	WITH IN 2 KM FROM PARKAL (AMBEDKAR STATUE) ON BHUPALAPALLI ROAD ON NH-353C BOTH SIDE	WARANGAL RURAL	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1033	BETWEEN KM STONE 48 TO 50 ON NH 65 ,LHS (FROM VIJAYAWADA TO HYDERABAD)	YADADRI BHUVANAGIRI	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1034	PULIKUNTA VILLAGE ON LHS ASIFABAD TO MANCHERIAL ROAD	KOMARAM BHEEM ASIFABAD	REGULAR	160	OPEN	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1035	WANKIDI KALAN VILLAGE ON LHS, TOWARDS CHANDRAPUR ROAD	KOMARAM BHEEM ASIFABAD	REGULAR	180	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1036	HASANAPARTHY TO KU CROSS LHS ON NH 563	WARANGAL URBAN	REGULAR	180	OBC	DC	24	24	576	25	75	DRAW OF LOTS	15	4
1037	2 KM FROM GURRAMPODE VILLAGE ON SH 18 TOWARDS KONDA MALLEPALLI , GURRAMPODE MANDAL	NALGONDA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1038	CHENNUR TOWN LIMITS NOT ON NH	MANCHERIAL	REGULAR	190	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1039	NIRMAL - RHS BETWEEN MANCHERIAL CHOWRASTA TO MANJULAPUR ON NH 61	NIRMAL	REGULAR	180	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1040	WITH IN WARANGAL MUNICIPAL LIMITS	WARANGAL URBAN	REGULAR	150	OBC	CC	22	22	484	25	10	BIDDING	30	4
	2 KM FROM KOPPOLE VILLAGE ON SH 18 TOWARDS KONDA MALLEPALLI , GURRAMPODE MANDAL	NALGONDA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1042	NIRMAL TOWN WITHIN 1 KM FROM MANCHERIAL CHOWRASTA ON MANCHERIAL ROAD	NIRMAL	REGULAR	160	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1043	Warangal fort road/khammam road(under bridge to Shambunipeta)	WARANGAL URBAN	REGULAR	150	OBC	CC	24	24	576	25	10	BIDDING	30	4
1044	ADILABAD TOWN - RHS BETWEEN NTR CHOWRASTA TO RTC BUSTAND	ADILABAD	REGULAR	230	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1045	ADILABAD TOWN - GANDHI CHOWK TO VINAYAK CHOWK	ADILABAD	REGULAR	180	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1046	MULUGU- WITH IN 2 KM FROM GOVERNMENT AREA HOSPITAL TOWARDS MALLAMPALLI ON NH-163 LHS	JAYASHANKAR BHUPALPALLY	REGULAR	160	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1047	WITH IN NARSAMPETA MUNICIPAL LIMITS, FROM AMBEDKAR STATUE TOWARDS MALLAMPALLI ROAD ON NH 365 BOTH SIDES	WARANGAL RURAL	REGULAR	150	OBC	DC	25	25	625	25	75	DRAW OF LOTS	15	4
1048	ADILABAD TOWN - LHS BETWEEN RTC BUSTAND TO PUNAJBI CHOWK	ADILABAD	REGULAR	230	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1049	LHS,3 KMS FROM KAGAZNAGAR BUS STAND TOWARDS ASIFABAD CROSS ROAD	KOMARAM BHEEM ASIFABAD	REGULAR	150	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1050	BETWEEN KM STONE 168 TO 170 ON NH 65 RHS( FROM VIJAYAWADA TO HYDERABAD )	SURYAPET	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1051	WARANGAL-BOTH SIDES FROM LABOUR COLONY TO VENKATARAMANA CIRCLE	WARANGAL URBAN	REGULAR	150	OBC	DC	24	24	576	25	60	DRAW OF LOTS	15	4
1052	DEVULAWADA VILLAGE LIMITS TO ARJUNAGUTTA VILLAGE LIMITS ON MANCHERIAL-JAGDALPUR ROAD	MANCHERIAL	REGULAR	180	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1053	WITHIN 4 KM FROM ASIFABAD X ROAD TOWARDS KAGAZNAGAR	KOMARAM BHEEM ASIFABAD	REGULAR	120	OPEN CC 1	DC	24	24	576	25	45	DRAW OF LOTS	15	5
1054	KAZIPETA RLY STATION JN TO FATIMA JN ON NH 163 LHS	WARANGAL URBAN	REGULAR	180	OBC	DC	22	22	484	25	75	DRAW OF LOTS	15	4
1055	YADAGIRIGUTTA MUNCIPAL LIMITS, FROM BUSSTAND TOWARDS KESARA ROAD	YADADRI BHUVANAGIRI	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1056	LHS WITHIN 4 KMS FROM LAXMI THEATER JUNCTION (MANCHERIAL) TOWARDS BELLAMPALLY	MANCHERIAL	REGULAR	180	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1057	BETWEEN SRIRAMPUR BUSTAND TO MANCHERIAL FLY OVER BRIDGE ON NH 63	MANCHERIAL	REGULAR	180	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1058	MIRYALGUDA TOWN ON BYEPASS, LHS (FROM MIRYALGUDA TO NALGONDA )	NALGONDA	REGULAR	100	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1059	MAHABUBABD WITH IN 1KM FROM SWAMI VIVEKANDA CIRCLE ON KESAMUDRAM ROAD	MAHABUBABAD	REGULAR	170	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1060	RAGHUNATHAPALLI TO GHANPUR ON NH-163 LHS	JANGAON	REGULAR	180	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5

1061	WITH IN 4 KM FROM JANAGOAN JN., TOWARDS SIDDIPET ON NH-365 B (OLD SH-9)	JANGAON	REGULAR	150	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1062	DAMARACHERLA , WITHIN 2 KM FROM INDIAN CEMENTS LORRY PARKING YARD TOWARDS MIRYALGUDA ON SH2, LHS	NALGONDA	REGULAR	145	OBC	CC	35	45	1575	25	10	BIDDING	30	4
1063	RAYAPARTHY TO MYLARAM ON NH-563	WARANGAL RURAL	REGULAR	160	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1064	WITHIN 3 KMS FROM ASIFABAD X ROAD TO KERIMERI ROAD	KOMARAM BHEEM ASIFABAD	REGULAR	100	SC CC 1	CFS	24	24	576	0	0	DRAW OF LOTS	0	3
1065	DANTALAPALLI TO BEERISHETTIGUDEM ON NH-563 LHS	MAHABUBABAD	REGULAR	150	OPEN CC 2	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1066	2 KM FROM INDANPALLI VILLAGE TOWARDS KADAM ON SH 24	MANCHERIAL	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1067	MEDARIWADA (RLY. GATE TO UNDER BRIDGE), NEAR BEET BAZAR, WARANGAL	WARANGAL URBAN	REGULAR	160	OPEN	CC	18	18	324	25	10	BIDDING	30	5
1068	BHOOPALAPALLI (WITHI IN 3 KM FROM AMBEDKAR STATUE CIRCLE TOWARDS PARAKALA) ON NH -353C BOTH SIDE	JAYASHANKAR BHUPALPALLY	REGULAR	170	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1069	WITHIN 2 KM FROM TIRUMALAGIRI JUNCTION TOWARDS JANAGOAN ROAD ON NH 365B LHS	SURYAPET	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1070	THORRUR-WITH IN 2 KM FROM RTC COMPLEX TOWARDS DANTALAPALLI ON NH-563 ON LHS	MAHABUBABAD	REGULAR	160	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1071	PARKAL, WITH IN MUNICIPAL LIMITS FROM PARKAL BUS STATION ON AMBALA ROAD	WARANGAL RURAL	REGULAR	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
1072	FROM MIRYALGUDA BUSTAND UPTO TADAKAMALLA CROSS ROADS	NALGONDA	REGULAR	140	OBC	CC	22	22	484	25	10	BIDDING	30	4
1073	GUDURU (WITH IN 2 KM FROM RTC BUS STAND) ON NH 365	MAHABUBABAD	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1074	HANAMKONDA( BETWEEN AMBEDKAR CIRCLE TO KAZIPET FLY OVER) ON NH-163 LHS	WARANGAL URBAN	REGULAR	200	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1075	ON HUNTER ROAD FROM SHAYAMPET CIRCLE TO MAHINDRA SHOW ROOM ON LHS	WARANGAL URBAN	REGULAR	160	OPEN	DC	24	24	576	25	60	DRAW OF LOTS	15	5
1076	KAMAN JUNCTION TO RAMAGUNDAM BYPASS ROAD VIA SUSHRUTHA CANCER HOSPITAL, RHS (NOT ON SH)	KARIMNAGAR	REGULAR	120	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1077	ON SH-7, RAYAPATNAM VILLAGE (DHARMAPURI MANDAL)	JAGITIAL	REGULAR	120	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1078	KU BYPASS ROAD WITH IN 3 KM FROM KU X ROAD (PEDDAMMAGADDA)	WARANGAL URBAN	REGULAR	170	OPEN	DC	24	24	576	25	60	DRAW OF LOTS	15	5
1079	BHOOPALAPALLI (WITHI IN 2 KM FROM AMBEDKAR STATUE CIRCLE TOWARDS KATARAM) ON NH -353C EITHER SIDE	JAYASHANKAR BHUPALPALLY	REGULAR	170	OPEN CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1080	KODAD ( WITHIN 1 KM FROM RANGA THEATRE JUNCTION TOWARDS HUZURNAGAR ROAD)	SURYAPET	REGULAR	135	OBC	DC	22	22	484	25	45	DRAW OF LOTS	15	4
1081	WITHIN 3KMS FROM JAGITIAL NEW BUSSTAND ON LHS, TOWARDS DHARMAPURI ROAD (MUNCIPAL LIMITS)	JAGITIAL	REGULAR	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1082	WARANGAL(GEMINI CINEMA THEATRE TO WARANGAL CHUARASTA)	WARANGAL URBAN	REGULAR	150	OPEN	CC	18	18	324	25	10	BIDDING	30	5
1083	KAREEMABAD(WARANGAL)	WARANGAL URBAN	REGULAR	150	OPEN	CC	18	18	324	25	10	BIDDING	30	5
1084	BETWEEN KM STONE 148 TO 150 ON NH 65 RHS (FROM VIJAYAWADA TO HYDERABAD )	SURYAPET	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1085	KHAZIPET TO MADIKONDA ON NH-163 ON LHS	WARANGAL URBAN	REGULAR	250	OPEN	CC	24	24	576	25	10	BIDDING	30	5
1086	PASRA TO GOVINDARAOPETA LHS ON NH-163	JAYASHANKAR BHUPALPALLY	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1087	HANAMKONDA (SUBEDARI JN TO AMBEDKAR CIRCLE ON NH-163 LHS	WARANGAL URBAN	REGULAR	220	OPEN	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1088	WITHIN 2 KM, BALEMLA JUNCTION TOWARDS SURYAPET ON NH 365B	SURYAPET	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4

1089	MARIPEDA TO DHARMARAM ON NH-365	MAHABUBABAD	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1090	WITHIN 2 KMS RUDRAMPUR TO KOTHAGUDEM ON NH 30	BHADRADRI KOTHAGUDEM	REGULAR	120	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1091	UPTO 4KM, ALAIR BUSSTAND TOWARDS HYDERABAD ON NH- 163, LHS	YADADRI BHUVANAGIRI	REGULAR	150	OBC PH	DC	30	30	900	25	75	DRAW OF LOTS	15	4
1092	NAGARAM TO ANNEPURAM STAGE ON NH-365	MAHABUBABAD	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1093	REVENUE VILLAGE THUNGAPAHAD , MIRYALAGUDA MANDAL ( 2 KM FROM SAINT RAYMOND HIGH SCHOOL TOWARDS NAGARJUNASAGAR)	NALGONDA	REGULAR	150	OPEN	СС	35	45	1575	25	10	BIDDING	30	5
1094	WITHIN 1 KM ,FROM NH 163 ALER INTERSECTION ON BAHADURPET ROAD TOWARDS BAHADURPETA, LHS	YADADRI BHUVANAGIRI	REGULAR	100	OBC	CC	30	30	900	25	10	BIDDING	30	4
1095	BHUPALAPALLI WITH IN MUNICIPAL LIMITS NOT ON NH	JAYASHANKAR BHUPALPALLY	REGULAR	140	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1096	BETWEEN KM STONE 160 TO 162 ON NH 65 LHS VIJAYWADA TO HYDERABAD	SURYAPET	REGULAR	150	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1097	SURYAPET TO KUDA KUDA ROAD WITHIN 5 KM FROM UNDERPASS.	SURYAPET	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1098	ON NH-63 WITHIN 2 KM FROM IBRAHIMPATNAM X ROADS TOWARDS NIZAMABAD ROAD	JAGITIAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1099	TADWAI TO CHINABOINAPALLI ON NH 163 LHS	JAYASHANKAR BHUPALPALLY	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1100	BETWEEN KM STONE 186 TO 188 ON NH 65 LHS (FROM VIJAYAWADA TO HYDERABAD )	SURYAPET	REGULAR	170	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1101	UPTO 2KM FROM KHAMMAM BORDER TOWARDS KODAD ON NH 365A ,LHS	SURYAPET	REGULAR	150	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1102	2KM FROM MITS COLLEGE-CHILKUR TOWARDS HUZURNAGAR ON NH 167, CHILKUR MANDAL LHS	SURYAPET	REGULAR	170	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1103	2 KM FROM KONDARAM VILLAGE TOWARDS SAVARLAGUDEM ON NH 365 ,LHS	NALGONDA	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1104	KORUTLA MUNICIPAL LIMITS, NOT ON NH	JAGITIAL	REGULAR	120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1105	THIRUMALA THEATRE TO SIRICILLA BYPASS ROAD	KARIMNAGAR	REGULAR	110	OPEN CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1106	WITH IN 3 KM FROM MUDIGONDA BUS STOP TOWARDS KODAD ON NH 365 A	КНАММАМ	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1107	BHONGIR BUS STAND TOWARDS HYDERABAD WITHIN 02 KM (NOT ON NH)	YADADRI BHUVANAGIRI	REGULAR	125	OPEN	CC	22	22	484	25	10	BIDDING	30	5
1108	ETURURUNAGARAM, WITH IN 2 KM FROM ITDA PO OFFICE TOWARDS CHATTISGARH ON NH 163	JAYASHANKAR BHUPALPALLY	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1109	UPTO 4KM FROM RANGAREDDY DISTRICT BORDER ON NH 65 TOWARDS VIJAYAWADA. RHS	YADADRI BHUVANAGIRI	REGULAR	150	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1110	WARANGAL-WITH IN 2 KM FROM DISTRICT FOREST OFFICE(HQO) ON REVENUE COLONY ROAD NOT ON NH	WARANGAL URBAN	REGULAR	220	OBC	DC	22	22	484	25	60	DRAW OF LOTS	15	4
1111	2KM FROMPEDAKANDUKUR VILLAGE TOWARDS BHONGIR ON NH 163 ,LHS	YADADRI BHUVANAGIRI	REGULAR	170	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1112	TEKULAPALLI VILLAGE LIMITS ON KALLURU TO VM BANJAR ROAD	КНАММАМ	REGULAR	120	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1113	RAGUDU JUNCTION TO THANGALAPALLI BRIDGE ON SIRICILLA BYPASS ROAD	RAJANNA SIRCILLA	REGULAR	170	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1114	WITHIN 3KM FROM NARKATPALLI UNDERPASS TOWARDS NALGONDA ON SH2 ,RHS	NALGONDA	REGULAR	150	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1115	ON NH-563, REKURTHY BYPASS JUNCTION TO CHINTHAKUNTA BYPASS JUNCTION, WITHIN KARIMNAGAR MUNICIPAL LIMITS,	KARIMNAGAR	REGULAR	150	OPEN	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1116	2KM FROM KETHEVARIGUDEM VILLAGE TOWARDS HUZURNAGAR ON NH 167	SURYAPET	REGULAR	150	OPEN PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1117	HUZURNAGAR ( WITHIN 1KM FROM HUZURNAGAR JUNCTION TOWARDS MATTAPALLI )	SURYAPET	REGULAR	100	SC	CFS	22	22	484	0	0	DRAW OF LOTS	0	3

1118	CHINTAPALLI REVENUE VILLAGE WITHIN 2 KM FROM SAI BABA TEMPLE ON SH 19	NALGONDA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1119	RAMPUR TO KAZIPETA ON NH 163 LHS	WARANGAL URBAN	REGULAR	220	OPEN	CC	35	45	1575	25	10	BIDDING	30	5
1120	HUZRABAD MUNICIPAL LIMITS, ON NH-563	KARIMNAGAR	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
1121	WARDHANNAPETA TO RAYAPARTHY ON NH-563 LHS	WARANGAL RURAL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1122	FOREST OFFICE TO DISTRICT COURT, IN KARIMNAGAR MUNICIPAL LIMITS	KARIMNAGAR	REGULAR	250	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1123	KAZIPETA	WARANGAL URBAN	REGULAR	150	OPEN	DC	22	22	484	25	60	DRAW OF LOTS	15	5
1124	SURYAPET (FROM NEW BUSSTAND TO OLD BUSTAND)	SURYAPET	REGULAR	100	OPEN	DC	22	22	484	25	45	DRAW OF LOTS	15	5
1125	WITH IN 3 KM FROM DEVARUPPALA POLICE STATION TOWARDS SURYAPETA ON NH-365B (OLD SH-9)EITHER SIDE	JANGAON	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1126	ON HUNTER ROAD FROM KODAM CONVENTION CENTRE TO ADALATH JN ON LHS	WARANGAL URBAN	REGULAR	160	ST	CFS	24	24	576	0	0	DRAW OF LOTS	0	3
1127	MAMNOOR TO BOLLIKUNTA ON NH 563 ON LHS	WARANGAL URBAN	REGULAR	180	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1128	OORUGONDA TO ATMAKUR ON NH 163 LHS	WARANGAL RURAL	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1129	WARANGAL WITH IN KUDA LIMITS	WARANGAL URBAN	REGULAR	150	OBC	DC	22	22	484	25	60	DRAW OF LOTS	15	4
1130	HANAMKONDA	WARANGAL URBAN	REGULAR	150	SC	CFS	22	22	484	0	0	DRAW OF LOTS	0	3
1131	CHERUVUMADHAVARAM ON KODAD - KHAMMAM ROAD	KHAMMAM	REGULAR	150	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1132	WITH IN 4 KM FROM MALLAMPALLI CROSS(X) ROAD TOWARDS WARANGAL ON NH-163 LHS	JAYASHANKAR BHUPALPALLY	REGULAR	150	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
1133	WITH IN 3 KM FROM MALLAMPALLI CROSS(X) ROAD TOWARDS MULUGU ON NH-163 LHS	JAYASHANKAR BHUPALPALLY	REGULAR	150	OPEN	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1134	WITH IN 2 KM FROM KAKATIYA UNIVERSITY CROSS TOWARDS KARIMANAGR ON NH 563 LHS	WARANGAL URBAN	REGULAR	150	OPEN	DC	22	22	484	25	75	DRAW OF LOTS	15	5
1135	RAMTEERTHAM TO MUTHOJIPET TOLL GATE ON NH 365 BOTH SIDES	WARANGAL RURAL	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1136	GUDEPAHAD(PARKAL X ROAD) TO ATMAKUR ON NH163 LHS	WARANGAL RURAL	REGULAR	150	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
1137	WARANGAL	WARANGAL URBAN	REGULAR	150	OPEN	CC	22	22	484	25	10	BIDDING	30	5
1138	WARANGAL/HANMKONDA FROM POLICE HEADQUARTERS(COMMISSIONARTE) TO KU CROSS ROAD ON NH 563	WARANGAL URBAN	REGULAR	150	OPEN	DC	22	22	484	25	75	DRAW OF LOTS	15	5
1139	WITH IN 5 KM FROM DEVARUPPALA POLICE STATION TOWARDS JANAGOAN ON NH-365B( OLD SH-9) LHS	JANGAON	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1140	JANAGOAN WITH IN MUNICIPAL LIMITS,FROM JANAGOAN CROSS(X) TOWARDS WARANGAL ON NH 163 RHS	JANGAON	REGULAR	150	OBC	DC	22	22	484	25	75	DRAW OF LOTS	15	4
1141	JANAGOAN WITH IN MUNICIPAL LIMITS,FROM JANAGOAN CROSS(X) TOWARDS HYDERABAD ON NH 163 RHS	JANGAON	REGULAR	150	OPEN	DC	22	22	484	25	75	DRAW OF LOTS	15	5
1142	WITHIN 3 KMS FROM OGLAPUR (POWER GRID CORPORATION) TOWARDS MULUGU ON NH 163 LHS	WARANGAL RURAL	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1143	CHOUTUPPAL MUNICIPAL LIMITS ON SANGEM ROAD	YADADRI BHUVANAGIRI	REGULAR	150	OBC	DC	22	22	484	25	75	DRAW OF LOTS	15	4
1144	SOMIDI ON THALLA PADMAVATHI ENGG COLLEGE TO KAZIPET ROAD, KAZIPET MANDAL	WARANGAL URBAN	REGULAR	150	SC	CFS	24	24	576	0	0	DRAW OF LOTS	0	3
1145	KODAD TOWN (FROM MELLACHERUVU JUNCTION TOWARDS HUZURNAGAR JUNCTION ), RHS	SURYAPET	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1146	CHOUTUPPAL MUNICIPAL LIMITS ON NARAYANPUR ROAD	YADADRI BHUVANAGIRI	REGULAR	100	OPEN	DC	22	22	484	25	45	DRAW OF LOTS	15	5
1147	DHARMARAM VILLAGE (GEESUKONDA MANDAL) ON OGLAPUR ROAD	WARANGAL RURAL	RURAL	72	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
1148	KARAIGUDEM VILLAGE ON LANKASAGAR - TIRUVUR ROAD, PENUBALLY MANDAL	КНАММАМ	RURAL	72	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4

	<del>-</del>		,											
1149	IPPAGUDA VILLAGE ON GHANPUR (STN) TO PALAKURTHY ROAD	JANGAON	RURAL	72	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1150	DUGGONDI VILLAGE & MANDAL ON MAIN ROAD	WARANGAL RURAL	RURAL	72	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1151	TUNGATURHY VILLAGE ON MADDIRAL ROAD	SURYAPET	RURAL	100	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
1152	TALLASINGARAM VILLAGE ON MAIN ROAD ,NUTHANKAL MANDAL	SURYAPET	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1153	VARDHAMAN KOTA VILLAGE ON MAIN ROAD ,NAGARAM MANDAL	SURYAPET	RURAL	60	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1154	PILLALAMARRI VILLAGE ON MAIN ROAD , SURYAPET	SURYAPET	RURAL	60	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
1155	VATTIKHAMMAM PAHAD ON MAIN ROAD ,CHIVVEMULA MANDAL	SURYAPET	RURAL	60	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1156	DIRSENCHERLA VILLAGE ON MAIN ROAD,NEREDCHERLA MANDAL	SURYAPET	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1157	BETHAVOLE VILLAGE ON MAIN ROAD , CHILKUR MANDAL	SURYAPET	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1158	PEDDAKAPARTHY VILLAGE ON MAIN ROAD ,CHITYAL MANDAL	NALGONDA	RURAL	60	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
1159	CHALAKURTHY VILLAGE ON MAINROAD ,PEDAVOORA MANDAL	NALGONDA	RURAL	60	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1160	VINJAMOOR VILLAGE ON MAINROAD ,CHINTAPALLE MANDAL	NALGONDA	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1161	VELIMINEDU VILLAGE ON MAIN ROAD ,CHITYAL MANDAL	NALGONDA	RURAL	60	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1162	VEMULAPALLE VILLAGE ON MAIN ROAD ,VEMULAPALLE MANDAL	NALGONDA	RURAL	60	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
1163	MOGILICHERLA VILLAGE(GEESUKONDA MANDAL)	WARANGAL RURAL	RURAL	72	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1164	TATIKOLE VILLAGE ON MAIN ROAD, DEVARAKONDA MANDAL	NALGONDA	RURAL	60	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1165	MAMIDALA VILLAGE ON MAIN ROAD ,THIPPARTHI MANDAL	NALGONDA	RURAL	60	OPEN CC 2	DC	30	30	900	12	30	DRAW OF LOTS	5	4
1166	NAGUNUR VILLAGE, SARANGAPUR MANDAL ON MAIN ROAD	JAGITIAL	RURAL	72	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1167	ELIGAID VILLAGE & MANDAL ON ELIGAID TO SULTANABAD ROAD	PEDDAPALLI	RURAL	72	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
1168	GOLLAPALLI VILLAGE, ELLAREDDYPET MANDAL NOT ON SH	RAJANNA SIRCILLA	RURAL	72	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

DISTRICT NAMES	CONTACT NUMBERS
ADILABAD	8500825374
BHADRADRI KOTHAGUDEM	8790608080
JAGITIAL	9441461441
JANGAON	9490798338
JAYASHANKAR BHUPALPALLY	9490798338
KARIMNAGAR	9441461441
KHAMMAM	8790608080
KOMARAM BHEEM ASIFABAD	8500825374
MAHABUBABAD	9490798338
MANCHERIAL	8500825374
NALGONDA	9491399587
NIRMAL	8500825374
PEDDAPALLI	9441461441
RAJANNA SIRICILLA	9441461441
SURYAPET	9491399587
WARANGAL RURAL	9490798338
WARANGAL URBAN	9490798338
YADADRI BHUVANAGIRI	8374526542

HYDERABAD	9959044484
JOGULAMBA GADWAL	9642786788
KAMAREDDY	9701546510
MAHBUBNAGAR	9642786788
MEDAK	9177782768
MEDCHAL MALKAJGIRI	9440492610
NAGARKURNOOL	9642786788
NIZAMABAD	9701546510
RANGA REDDY	9727752352
SANGAREDDY	8121331605
SIDDIPET	9177782768
VIKARABAD	8121331605
WANAPARTHY	9642786788